13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Page 1 **Ratification Date: Resolution #:** Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** AUDITOR'S SUBDIVISION NO. 35 ST. Mill and Overlay - Downtown 31.90 218.00 \$6,954.20 County Of Ramsey 06-28-22-11-0029 PAUL, MINN. VAC STS & ALLEYS Flat Sidewalk Reconstruction 0.00 1.00 \$0.00 121 7th Place Ste 2200 ACCRUING; PART, LYING S OF LINE St Paul MN 55101-2146 \$6,954.20 BEG ON SWLY LINE OF LOT 7 & 54.57 FT N OF NW COR OF LOT 8 TH DEF TO *** Owner and Taxpayer *** *150 KELLOGG BLVD E RIGHT 79DEG 19 MIN 241.6FT TO PT *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 86.00 \$2,743.40 County Of Ramsey AUDITOR'S SUBDIVISION NO. 35 ST 06-28-22-11-0030 PAUL, MINN. SUBJ TO 2ND ST THE Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 121 7th Place Ste 2200 FOL PART OF LOTS 8 AND 9 SELY OF St Paul MN 55101-2146 \$2,743.40 A L BEG AT A PT ON NELY L OF SD LOT 8 AND 3 FT FROM MOST ELY COR *** Owner and Taxpayer *** *0 2ND ST THEREOF TH SWLY 90 55/100 FT TO A *Ward: 2 *Pending as of: 1/26/2021 17.00 Mill and Overlay - Downtown 31.90 \$542.30 County Of Ramsey CITY OF ST. PAUL BEG ON NLY LINE 06-28-22-11-0034 OF & 51.55 FT W OF NE COR OF LOT 6 Flat Sidewalk Reconstruction 1.00 0.00\$0.00 121 7th Place Ste 2200 BLK 39 TH S 51 DEG 8 MIN 17 SEC W St Paul MN 55101-2146 \$542.30 264.84 FT TH SW ON CURVE TO R WITH RAD OF 1781 FT FOR 282.25 FT *** Owner and Taxpayer *** *80 2ND ST TH S 60 DEG 13 MIN 6 SEC W 55.39 FT *Ward: 2 *Pending as of: 1/26/2021

City Of St Paul

City Of St Paul

City Of St. Paul EX KELLOGG BLVD

& EX ALLEY & EX PARKING LEASE
BELOW SURFACE; LOTS 2, 3 & LOT 4
BLK 31

*** Owner and Taxpayer ***

*131 2ND ST *Ward: 2

*Pending as of: 1/26/2021

06-28-22-11-0039

EXEMPT

\$3,796.10

\$3,796.10

\$0.00

13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Page 2
Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
City Of St Paul 25 4th St W Rm 1000 St Paul MN 55102-1692 *60 KELLOGG BLVD E *Ward: 2	AUDITOR'S SUBDIVISION NO. 18 ST. PAUL, MINN. SUBJ TO RDS & ESMTS; THE FOL. LOTS 1 THRU 6 BLK 34 & LOTS 1 THRU 3 BLK 33 CITY OF ST PAUL ADD & IN SD AUD SUB NO 18, LOTS 1 THRU LOT 17	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	978.00 0.00	\$31,198.20 \$0.00 \$31,198.20	06-28-22-11-0041 ***EXEMPT***
*Pending as of: 1/26/2021 County Of Ramsey 121 7th Place Ste 2200 St Paul MN 55101-2146 *0 2ND ST *Ward: 2 *Pending as of: 1/26/2021	CITY OF ST. PAUL VAC STS & LEVEE ACCRUING & FOL. PART OF BLK 39 LYING NELY OF NELY OF ROBERT ST & ITS SLY EXT & LYING SELY OF A LINE DESC AS BEG ON NLY LINE OF LOT 6 BLK 39 51.55 FT W OF NE COR	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	25.00 0.00	\$797.50 \$0.00 \$797.50	06-28-22-11-0046
Pioneer Apartments Lllp 579 Selby Ave St Paul MN 55102-1730 *345 CEDAR ST *Ward: 2 *Pending as of: 1/26/2021	CITY OF ST. PAUL SUBJ TO 4TH ST AND CEDAR ST AND EX SWLY 167 5/10 FT BLK 20	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	284.00 0.00 =	\$9,059.60 \$0.00 \$9,059.60	06-28-22-12-0057
Degree Of Honor Bulding Llc C/O Jim Cockarell 375 Jackson St Ste 700w St Paul MN 55101-1810 *325 CEDAR ST	CITY OF ST. PAUL SUBJ TO ST THE FOL LOTS 1 2 AND 3 AND NELY 1/2 OF LOT 4 ALSO NELY 44 FT OF NWLY 20 9/10 FT OF LOT 14 BLK 23	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	180.00	\$5,742.00 \$0.00 \$5,742.00	06-28-22-12-0069

*Ward: 2

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Ratification Date: Resolution #:					Pag
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Port Authority City Of St Paul 380 St Peter St Ste 850 St Paul MN 55102-1313 *43 KELLOGG BLVD E *Ward: 2 *Pending as of: 1/26/2021	CITY OF ST. PAUL SUBJ TO & WITH PARTY WALL AGREEMENT IN DOC NO.2165105; THE FOL SELY 12 FT; EX THE SWLY 1/2 OF LOT 5 ALL OF LOTS 1 THRU 4 SELY 12 FT OF LOT 6 & ALL OF LOTS 7 & 8 & THE SWLY 5 FT OF	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	158.00 6,120.78 =	\$5,040.20 \$6,120.78 \$11,160.98	06-28-22-12-0133
Capital City Ventures Llc C/O St Paul Building 340 Cedar St Ste 100 St Paul MN 55101-1126 *340 CEDAR ST *Ward: 2 *Pending as of: 1/26/2021	SELY 25 FT OF LOTS 5 & LOT 6 AND SUBJ TO PEDESTRIAN WALKWAY IN DOC #2120427; ALL OF LOTS 7 & LOT 8 BLK 19	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	175.00 0.00 =	\$5,582.50 \$0.00 \$5,582.50	06-28-22-12-0277
St Peter Parking Partners 120 S 6th St Ste 2005	BAZIL AND GUERIN'S ADDITION TO SAINT PAUL NWLY 85 FT OF LOTS I AND LOT 2 BLK 9	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	100.00	\$3,190.00 \$0.00	06-28-22-21-0006

*** Owner and Taxpayer ***

*Pending as of: 1/26/2021

Minneapolis MN 55402-1822

\$3,190.00

1	3:3	0.1	6	3/2	9	121	121	١
	J.J	W. I	"	3/4	- 7	/ 41	14	ı

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date: Resolution #:

	ŀ	Ratification Date: Resolutio	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
County Of Ramsey Comm Corr 121 7th Place E Ste 1220 St Paul MN 55101-2168 *25 7TH ST W *Ward: 2 *Pending as of: 1/26/2021	BAZIL AND GUERIN'S ADDITION TO SAINT PAUL LOTS 1 THRU 12 BLK 8 EX NWLY 5/6 OF LOTS 1 & 2 & NWLY 2/3 OF LOT 3 EX NWLY 1/2 OF SELY 2/3 OF LOTS 11 & LOT 12 & EX THE FOL BEG AT S COR OF LOT 11 TH	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner ***	31.90 1.00	150.00 27,177.84 =	\$4,785.00 \$27,177.84 \$31,962.84	06-28-22-21-0071
Ramsey County C/O Property Management 121 7th Pl E Ste 2200 St Paul MN 55101-2146 *25 7TH ST W *Ward: 2 *Pending as of: 1/26/2021	BAZIL AND GUERIN'S ADDITION TO SAINT PAUL LOTS 1 THRU 12 BLK 8 EX NWLY 5/6 OF LOTS 1 & 2 & NWLY 2/3 OF LOT 3 EX NWLY 1/2 OF SELY 2/3 OF LOTS 11 & LOT 12 & EX THE FOL BEG AT S COR OF LOT 11 TH	*** Taxpayer and 3rd Party ***				06-28-22-21-0071
County Of Ramsey Public Health 555 Cedar St St Paul MN 55101-2209 *555 CEDAR ST *Ward: 2 *Pending as of: 1/26/2021	BAZIL AND GUERIN'S ADDITION TO SAINT PAUL SUBJ TO STS; ALL OF BLK 1	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	251.00 0.00 =	\$8,006.90 \$0.00 \$8,006.90	31-29-22-34-0004
Del Co Limited Partnership Po Box 17122 St Paul MN 55117-0122	BAZIL AND GUERIN'S ADDITION TO SAINT PAUL LOTS 7 AND LOT 8 BLK 2	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	102.00 0.00 =	\$3,253.80 \$0.00 \$3,253.80	31-29-22-34-0009

*** Owner and Taxpayer ***

*534 ST PETER ST

*Ward: 2

*Pending as of: 1/26/2021

Manager: LM

Page 4

13:30:16 3/29/2021	Public Improvement Assessment Rol R	Ratification Date: Resolution		200000	Manager: LM	P
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Church Of Scientology Of Minnesota	REGISTERED LAND SURVEY 328 SUBJ	Mill and Overlay - Downtown	31.90	105.00	\$3,349.50	31-29-22-34-0019
505 Wabasha St N	DI ANE CUDEACE AT AN ELEVATION	Mill and Overlay - Downtown	31.90	105.00	\$3,349.50	
St Paul MN 55102-1016		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
505 WABASHA ST N	BEG AT NWLY COR OF TRACT A RLS				\$6,699.00	
*Ward: 2 *Pending as of: 1/26/2021	328 TH NELY TO NELY COR OF BLK 5	*** Owner and Taxpayer ***				
Hta Gallery Medical Llc 16435 N Scottsdale Rd Unit 320 Scottsdale AZ 85254-1694 *17 EXCHANGE ST W *Ward: 2 *Pending as of: 1/26/2021	REGISTERED LAND SURVEY 328 PART ABOVE PLANE SURFACE ELEV 103.5 FT OF FOL; EX PART IN GALLERY TOWER CONDOMINIUM & GALLERY PRO- FESSIONAL CONDOMINIUM, LOTS 3, 5, 6 & 9 BLK	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	31.00 0.00 =	\$988.90 \$0.00 \$988.90	31-29-22-34-0020
Roger B Seaver	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0024
66 10th St W Unit 302	UNIT NO 302	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
t Paul MN 55102-1037		***			\$23.61	
26 10TH ST W 302		*** Owner and Taxpayer ***				
Ward: 2						
Pending as of: 1/26/2021						
lejfudin Sejdinovic	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0026
-j	GALLERY TOWER CONDOMINIUM	- F1 - G11 - 11 - F1	1.00	0.00	40.00	51-27-22-5T-0020

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

1.00

0.00

\$0.00

\$23.61

GALLERY TOWER CONDOMINIUM

UNIT NO 304

26 10th St W #304 St Paul MN 55102-1042 *26 10TH ST W 304

*Ward: 2

Zora Sejdinovic

13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Page 6 **Ratification Date: Resolution #:** Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Mill and Overlay - Downtown CONDOMINIUM NUMBER 124 31.90 0.74 \$23.61 Michael Dougherty 31-29-22-34-0027 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 0.00 \$0.00 1.00 2535 Park Ave UNIT NO 305 Minneapolis MN 55404-4404 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 305 *Ward: 2. *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 173.30 \$5,528.27 Housing And Redev Authority BAZIL AND GUERIN'S ADDITION TO 31-29-22-34-0030 SAINT PAUL SUBJ TO ESMTS, THE Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 25 4th St W 12th Flr FOL; THAT PART BELOW A PLANE St Paul MN 55102-1634 \$5,528.27 SURFACE AT ELEVATION 103.5 FT ST *** Owner and Taxpayer *** PAUL DATUM OF FOL; ALL OF REG. *13 EXCHANGE ST W LAND SURVEY 328 & IN SD BAZIL & *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 0.74 \$23.61 Gallery Tower Homeowners Assn CONDOMINIUM NUMBER 124 31-29-22-34-0031 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 1.00 0.00\$0.00 C/O Firstservice Residential UNIT NO 308

Bloomington MN 55425-1803 ***26 10TH ST W 308**

8100 Old Cedar Ave S Ste 300

*Ward: 2

*Pending as of: 1/26/2021

Mill and Overlay - Downtown 31.90 0.74 \$23.61 Theodore K Berg CONDOMINIUM NUMBER 124 31-29-22-34-0035 GALLERY TOWER CONDOMINIUM 0.00\$0.00 Flat Sidewalk Reconstruction 1.00 Cathleen A Berg UNIT NO 403 Po Box 27 \$23.61 *** Owner and Taxpayer *** Pengilly MN 55775-0027

*** Owner and Taxpayer ***

*26 10TH ST W 403

*Ward: 2

*Pending as of: 1/26/2021

\$23.61

13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Page 7

	•	Ratification Date: Resolutio	n #:		8	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Karen I Kullman 9854 Edgewood Rd Bloomington MN 55438-1755 *26 10TH ST W 404 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 404	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0037
Denise Godderz 26 10th St W # 405 St Paul MN 55102-5023 *26 10TH ST W 405 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 405	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0038
Lynn Chudzik 26 10th St W Unit 407 St Paul MN 55102-5009 *26 10TH ST W 407 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 407	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0041
Steven J Derider 1506 Judicial Rd Northfield MN 55057-3556 *26 10TH ST W 409	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 409	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0044

		Ratification Date: Resolutio	n #:				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Jeffrey J Tentinger Robin A Werrbach 26 10th St W Unit 411	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 411	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00 \$23.61	31-29-22-34-0047	
St Paul MN 55102-5009 *26 10TH ST W 411 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***					
Keith F Ostrosky	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0052	
26 10th St W Unit 504 St Paul MN 55102-5024	GALLERY TOWER CONDOMINIUM UNIT NO 504	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00		
*26 10TH ST W 504 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$23.61		
Shukri Mohamed Kariye 26 W 10th St Unit 506	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 506	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0055	
St Paul MN 55102-5024 *26 10TH ST W 506 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$23.61		

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM

UNIT NO 507

31.90

1.00

0.74

0.00

\$23.61

\$0.00

\$23.61

26 10th St W Unit 507 St Paul MN 55102-5024 *26 10TH ST W 507

*Ward: 2

Edi Hasan

*Pending as of: 1/26/2021

31-29-22-34-0056

		Ratification Date: Resolutio	n #:				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Randall R Wilke 1200 Laurel Ave St Paul MN 55104-6925	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 508	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0058	
*26 10TH ST W 508 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***					
Stephen Davis 26 10th St W Unit 509	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0059	
St Paul MN 55102-5024	UNIT NO 509	That Side want reconstruction	1.00	=	\$23.61		
*26 10TH ST W 509 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***					
George C Deden 26 Tenth St W Unit 601	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 601	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0063	
St Paul MN 55102-1042 *26 10TH ST W 601 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***		_	\$23.61		

26 10th St W Unit 602 St Paul MN 55102-5010

*26 10TH ST W 602

*Ward: 2

Keith F Ostrosky

*Pending as of: 1/26/2021

*** Owner and Taxpayer ***

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM

UNIT NO 602

31.90

1.00

0.74

0.00

\$23.61

\$0.00

\$23.61

31-29-22-34-0065

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Jennifer Frisbie	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0070	
26 10th St W Unit 606 St Paul MN 55102-5010	UNIT NO 606	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00		
*26 10TH ST W 606 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$23.61		
Frank Allen Hester 26 10th St W Unit 607	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 607	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0072	
St Paul MN 55102-5010 *26 10TH ST W 607 *Ward: 2 *Pending as of: 1/26/2021	UNIT NO 007	*** Owner and Taxpayer ***		-	\$23.61		
Alexandria M Keller David W Keller	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 701	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0079	
748 3rd Ave Nw New Brighton MN 55112-6813 *26 10TH ST W 701 *Ward: 2	CAIT NO /VI	*** Owner and Taxpayer ***		_	\$23.61		

*Pending as of: 1/26/2021

John J Gabarron Iv	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0082
26 10th St W #703	GALLERY TOWER CONDOMINIUM	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55102-1042	UNIT NO 703				\$23.61	
*26 10TH ST W 703		*** Owner and Taxpayer ***				

*Ward: 2

*Pending as of: 1/26/2021

Igor Burlakov 26 10th St W Unit 709 St Paul MN 55102-1038	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 709	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74	\$23.61 \$0.00 \$23.61	31-29-22-34-0090
*26 10TH ST W 709		*** Owner and Taxpayer ***			Ψ23.01	

*Ward: 2

10.00.10 0/29/2021	Ratification Date: Resolution #:							
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Anthony J Oehlerking Chandra Oehlerking 26 10th St W Unit 710 St Paul MN 55102-1038 *26 10TH ST W 710 *Ward: 2	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 710	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0091		
*Pending as of: 1/26/2021 Scott Kaufhold 1981 93rd St Somerset WI 54025-7547 *26 10TH ST W 805 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 805	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0100		
Houston L Tolbert 26 10th St W Unit 810 St Paul MN 55102-1042 *26 10TH ST W 810 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 810	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0107		
Kelsey Gray 26 10th St W Unit 901 St Paul MN 55102-5028 *26 10TH ST W 901	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 901	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74	\$23.61 \$0.00 \$23.61	31-29-22-34-0110		

Ratification Date: Resolution #:							
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Catherine M Miller	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0114	
26 10th St W Unit 904	GALLERY TOWER CONDOMINIUM UNIT NO 904	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00		
St Paul MN 55102-5028					\$23.61		
*26 10TH ST W 904		*** Owner and Taxpayer ***					
*Ward: 2							
*Pending as of: 1/26/2021							
	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0123	
600 Washington Ave N Ste 200	GALLERY TOWER CONDOMINIUM	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	31-27-22-34-0123	
Minneapolis MN 55401-1240	UNIT NO 1803			=	\$23.61		
*26 10TH ST W 1803		*** Owner and Taxpayer ***					
*Ward: 2							
*Pending as of: 1/26/2021							
Mervyn Hough	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0125	
Margiolina Hough 26 10th St W Unit 1811	GALLERY TOWER CONDOMINIUM UNIT NO 910	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00 \$23.61		
St Paul MN 55102-5037		*** Owner and Taxpayer ***			4-2.05		
*26 10TH ST W 910							
*Ward: 2							
*Pending as of: 1/26/2021							
Kaylee Weycker	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0128	
26 10th St W Unit 911	GALLERY TOWER CONDOMINIUM UNIT NO 911	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00		
St Paul MN 55102-5029	5.111 NO 211			_	\$23.61		
*26 10TH ST W 911		*** Owner and Taxpayer ***					

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Terrance P Everson	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0130
Sandra L Everson	GALLERY TOWER CONDOMINIUM UNIT NO 1001	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
26 10th St W Unit 1001 St Paul MN 55102-5012		*** Owner and Taxpayer ***			\$23.61	
*26 10TH ST W 1001		owner and raxpayer				
*Ward: 2						
*Pending as of: 1/26/2021						
Sheila M Pokorny	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0131
26 10th St W Unit 1806	GALLERY TOWER CONDOMINIUM UNIT NO 1806	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	012/220.0101
St Paul MN 55102-5016	CIVIT IVO 1600			_	\$23.61	
* 26 10TH ST W 1806 *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
Gladys P Morton Trustee	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0135
26 10th St W Unit 1808 St Paul MN 55102-1042	GALLERY TOWER CONDOMINIUM UNIT NO 1808	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$23.61	
*26 10TH ST W 1808		*** Owner and Taxpayer ***			\$23.01	
*Ward: 2						
*Pending as of: 1/26/2021						
 Meghan Mcalister Trustee	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0136
26 10th St W Unit 1003	GALLERY TOWER CONDOMINIUM	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	31-47-44-3 4 -0130
St Paul MN 55102-5012	UNIT NO 1003			=	\$23.61	
*26 10TH ST W 1003		*** Owner and Taxpayer ***			*	

*Pending as of: 1/26/2021

*Ward: 2

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Alina Parast Masoud Parast	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1809	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0138
26 10th St W Unit 1809 St Paul MN 55102-5037 *26 10TH ST W 1809 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$23.61	
Garrett Hillestad	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0140
26 10th St W Unit 1810 St Paul MN 55102-5037	GALLERY TOWER CONDOMINIUM UNIT NO 1810	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$23.61	
F26 10TH ST W 1810 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Mervyn H Hough Margiolina D Hough	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0142
26 10th St W Unit 1811	UNIT NO 1811		-100	=	\$23.61	
t Paul MN 55102-5037 26 10TH ST W 1811 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Carol Crockett 26 10th St W Unit 1901	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0144
St Paul MN 55102-1042 *26 10TH ST W 1901	UNIT NO 1901	*** Owner and Taxpayer ***		=	\$23.61	

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Jason Lloyd Heather Lloyd 98 Ruffed Grouse Chapel Hill NC 27517-9273 *26 10TH ST W 1007 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1007	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0145		
Crystal S Sparkman 6900 Sharlands Ave Unit 616 Reno NV 89523-2911 *26 10TH ST W 1008 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1008	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0149		
John R Clinger 26 10th St W Unit 1009 St Paul MN 55102-5012 *26 10TH ST W 1009 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1009	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0150		
Mark Savin M Alison Savin 26 10th St W Unit 1904 St Paul MN 55102-5017 *26 10TH ST W 1904	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1904	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0151		

*Pending as of: 1/26/2021

Page 17

Ratification Date: Resolution #:							
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Edi Hasan 26 10th St W Unit 1907 St Paul MN 55102-5017 *26 10TH ST W 1907 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1907	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0159	
Bryant J Hansen 26 10th St W Unit 1102 St Paul MN 55102-5013 *26 10TH ST W 1102 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1102	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0160	
Alina Parast Masoud Parast 26 10th St W Unit 1809 St Paul MN 55102-5037 *26 10TH ST W 1908 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1908	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0161	
Elliot K Allman 26 10th St W Unit 1105 St Paul MN 55102-5013 *26 10TH ST W 1105 *Ward: 2	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1105	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0167	

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

*** Owner and Taxpayer ***

CONDOMINIUM NUMBER 124

UNIT NO 1108

GALLERY TOWER CONDOMINIUM

Travis Heins
Kelsey Heins
26 10th St W Unit 1108
St Paul MN 55102-5013
*26 10TH ST W 110

*26 10TH ST W 1108

*Ward: 2

*Pending as of: 1/26/2021

Evelyn Doyle 26 10th St W Unit 2002 St Paul MN 55102-5018

*26 10TH ST W 2002

*Ward: 2

*Pending as of: 1/26/2021

CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 2002	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74	\$23.61 \$0.00	31-29-22-34-0174
0111110 2002				\$23.61	

31.90

1.00

0.74

0.00

\$23.61

\$23.61

\$0.00

31-29-22-34-0173

13:30:16 3/29/2021

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Julius Stokes 26 10th St W Unit 1110 St Paul MN 55102-5013	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1110	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00 \$23.61	31-29-22-34-0178
*26 10TH ST W 1110 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			φ23.01	
Allyson Koehler Stacey Koehler	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 2004	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00	\$23.61 \$0.00	31-29-22-34-0179
26 10th St W Unit 2004 St Paul MN 55102-5018 *26 10TH ST W 2004 *Ward: 2 *Pending as of: 1/26/2021	CIAT NO 2004	*** Owner and Taxpayer ***		_	\$23.61	
Stephen M Setness 26 10th St W Unit 1201 St Paul MN 55102-5013	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1201	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0182
*26 10TH ST W 1201 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			Ψ25.01	
Steve E Moore	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0186
26 10th St W Unit 2006 St Paul MN 55102-5018	UNIT NO 2006	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$23.61	
*26 10TH ST W 2006		*** Owner and Taxpayer ***				

*Ward: 2

*Pending as of: 1/26/2021

Page 19

Manager: LM

13:30:16 3/29/2021	Public Improvement Assessmen	t Roll by PID (Fee to Asmt)) Project: MO2008 Assn	nt: 205500	Manager: LM	Page 20
		Ratification Date:	Resolution #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rlt Properties Llc	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0188
1921 James Ave S	GALLERY TOWER CONDOMINIUM UNIT NO 1204	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
Minneapolis MN 55403-2832 *26 10TH ST W 1204		*** Owner and Taxpayer ***			\$23.61	
*Ward: 2		- ···				
*Pending as of: 1/26/2021						
Carlos Cardounel	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0190
26 10th St W # 2008	GALLERY TOWER CONDOMINIUM UNIT NO 2008	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	31-23-22-34-0170
St Paul MN 55102-5018	UNIT NO 2008			_	\$23.61	
*26 10TH ST W 2008		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 1/26/2021						
Jeannine L Rydeen 26 10th St W Unit 1206 St Paul MN 55102-1042 *26 10TH ST W 1206 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1206	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0192
Martin S Vulu 26 10th St W Unit 2011 St Paul MN 55102-5018	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 2011	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00	31-29-22-34-0198

St Paul MN 55102-5018 \$23.61 *** Owner and Taxpayer ***

*26 10TH ST W 2011

*Ward: 2

	Ratification Date: Resolution #:					
<u>Owner or Taxpayer</u>	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey D Olson	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0201
Susan D Olson	GALLERY TOWER CONDOMINIUM UNIT NO 1211	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
26 10th St W Unit 1211 St Paul MN 55102-1039		*** Owner and Taxpayer ***			\$23.61	
*26 10TH ST W 1211		Owner and Taxpayer				
*Ward: 2						
*Pending as of: 1/26/2021						
Keith F Ostrosky	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0206
26 10th St W Unit 1306	GALLERY TOWER CONDOMINIUM UNIT NO 1303	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	31 27 22 34 0200
St Paul MN 55102-5032 * 26 10TH ST W 1303		*** Owner and Taxpayer ***			\$23.61	
*Ward: 2		Owner and Taxpayor				
*Pending as of: 1/26/2021						
Keith F Ostrosky	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0211
26 10th St W Unit 1306 St Paul MN 55102-5032	UNIT NO 1306	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*26 10TH ST W 1306		*** Owner and Taxpayer ***			\$23.61	
*Ward: 2		1 3				
*Pending as of: 1/26/2021						
James R Nash	CONDOMINIUM NUMBER 124	Mill and Overlay - Downtown	31.90	0.74	\$23.61	31-29-22-34-0214
915 West Arlington Ave St Paul MN 55117-3311	GALLERY TOWER CONDOMINIUM UNIT NO 1308	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00 \$23.61	51-27-22-54-021 4
*26 10TH ST W 1308 *Ward: 2		*** Owner and Taxpayer ***				

Manager: LM

Page 22

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Deborah A Weiner Tr 26 W 10th St Unit No 1309 St Paul MN 55102-5014 *26 10TH ST W 1309 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1309	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0216
Samuel David Aas 26 10th St W Unit 1310 St Paul MN 55102-5014 *26 10TH ST W 1310 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1310	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 <u>=</u>	\$23.61 \$0.00 \$23.61	31-29-22-34-0218
Lindsey Merrick Rutledge 26 10th St W # 1409 St Paul MN 55102-5034 *26 10TH ST W 1409 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1409	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0229
Susan M Wells Lynn F Harrington 26 10th St #1410 St Paul MN 55102-1042	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1410	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0230

*26 10TH ST W 1410

*Ward: 2

Manager: LM

Page 23

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date: Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Mill and Overlay - Downtown CONDOMINIUM NUMBER 124 31.90 0.74 \$23.61 Tamara Poppler 31-29-22-34-0232 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 0.00 \$0.00 1.00 26 10th St W Unit 1501 UNIT NO 1501 St Paul MN 55102-5015 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 1501 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 0.74 \$23.61 Dirk Damrau CONDOMINIUM NUMBER 124 31-29-22-34-0233 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 1.00 0.00\$0.00 79 Western Ave N Apt 306 **UNIT NO 1502** St Paul MN 55102-4626 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 1502 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 0.74 \$23.61 CONDOMINIUM NUMBER 124 Janet M Lowe 31-29-22-34-0236 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 1.00 0.00\$0.00 26 10th St W Unit 1505 UNIT NO 1505 St Paul MN 55102-1042 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 1505 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 0.74 \$23.61 Roberto A Orantes CONDOMINIUM NUMBER 124 31-29-22-34-0240 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 0.00\$0.00 1.00 Diana S Orantes UNIT NO 1510 26 10th St W Unit 1510 \$23.61 *** Owner and Taxpayer *** St Paul MN 55102-5015

*26 10TH ST W 1510

*Ward: 2

Page 24

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Mill and Overlay - Downtown CONDOMINIUM NUMBER 124 31.90 0.74 \$23.61 Jo Angela Maniaci 31-29-22-34-0243 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 0.00 \$0.00 1.00 26 10th St W Unit 1602 **UNIT NO 1602** St Paul MN 55102-1040 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 1602 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 0.74 \$23.61 Mary A Krueger CONDOMINIUM NUMBER 124 31-29-22-34-0244 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 1.00 0.00\$0.00 26 10th St W 1603 **UNIT NO 1603** St Paul MN 55102-1040 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 1603 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 0.74 31.90 \$23.61 Carole Kay Aho CONDOMINIUM NUMBER 124 31-29-22-34-0246 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 1.00 0.00\$0.00 26 10th St W Unit 1605 **UNIT NO 1605** St Paul MN 55102-1042 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 1605 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 0.74 Shane G Nelson 31.90 \$23.61 CONDOMINIUM NUMBER 124 31-29-22-34-0248 GALLERY TOWER CONDOMINIUM Flat Sidewalk Reconstruction 0.00\$0.00 1.00 26 10th St W Unit 1609 **UNIT NO 1609** St Paul MN 55102-1042 \$23.61 *** Owner and Taxpayer *** *26 10TH ST W 1609

*Ward: 2

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

<u>Owner or Taxpayer</u>	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elena Tyurina 7901 Civita Blvd Apt 119 San Diego CA 92108-5141 *26 10TH ST W 1703 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1703	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0253
Charles W Repke Jr 154 Winnifred St W St Paul MN 55107-2144 *26 10TH ST W 1704 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1704	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0254
Dereje Mamo 1632 28th St Sw Rochester MN 55902-1130 *26 10TH ST W 1706 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 124 GALLERY TOWER CONDOMINIUM UNIT NO 1706	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.74 0.00 =	\$23.61 \$0.00 \$23.61	31-29-22-34-0256

Hta Gallery Medical Llc 16435 N Scottsdale Rd Unit 320 Scottsdale AZ 85254-1694

*17 EXCHANGE ST W 1

*Ward: 2

*Pending as of: 1/26/2021

BAZIL AND GUERIN'S ADDITION TO SAINT PAUL PART OF TRACTS E & F IN Flat Sidewalk Reconstruction REG LAND SURVEY NO.328 & PART OF LOTS 7 THRU LOT 9 BLK 5 IN SD BAZIL AND GUERIN'S ADD,ALL LYING ABOVE A PLANE SURFACE AT

Mill and Overlay - Downtown

*** Owner and Taxpayer ***

31.90 198.00 \$6,316.20 1.00 0.00 \$0.00

\$6,316.20

31-29-22-34-0280

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Steve Anderson Jr 488 Wabasha St N Unit 201 St Paul MN 55102-1144	CIC NO 646 FITZGERALD CONDOS UNIT NO.201	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89	\$28.39 \$0.00 \$28.39	31-29-22-34-0296
*488 WABASHA ST N 201 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Laura M Charboneau Geanne M Brissette	CIC NO 646 FITZGERALD CONDOS UNIT NO.205	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89	\$28.39 \$0.00	31-29-22-34-0300
80 Ramsey St Apt 1a t Paul MN 55102-2336 488 WABASHA ST N 205 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***		-	\$28.39	
Cobby Westrom	CIC NO 646 FITZGERALD CONDOS	Mill and Overlay - Downtown	31.90	0.89	\$28.39	31-29-22-34-0301
88 Wabasha St N #206 It Paul MN 55102-1144	UNIT NO.206	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
488 WABASHA ST N 206 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$28.39	

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

CIC NO 646 FITZGERALD CONDOS

UNIT NO.302

31.90

1.00

0.89

0.00

\$28.39

\$0.00

\$28.39

Ryan Dorshorst Jodi Gerarden 1150 Kirkham St

San Francisco CA 94122-3568

*488 WABASHA ST N 302

*Ward: 2

*Pending as of: 1/26/2021

31-29-22-34-0305

*Pending as of: 1/26/2021

Mill and Overlay - Downtown 0.89 Ernesto Reinol CIC NO 646 FITZGERALD CONDOS 31.90 \$28.39 31-29-22-34-0310 UNIT NO.307 Flat Sidewalk Reconstruction 0.00\$0.00 1.00 488 Wabasha St N Unit 307 St Paul MN 55102-1135 \$28.39 *** Owner and Taxpayer *** *488 WABASHA ST N 307

*Ward: 2

	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Ratification Date: Resolution #:					
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kevin E Brown	CIC NO 646 FITZGERALD CONDOS	Mill and Overlay - Downtown	31.90	0.89	\$28.39	31-29-22-34-0313
488 Wabasha St N Unit 402	UNIT NO.402	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55102-1137 *488 WABASHA ST N 402 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$28.39	
Kyle R Eliason 337 Ramsey St Apt 7	CIC NO 646 FITZGERALD CONDOS UNIT NO.403	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89 0.00	\$28.39 \$0.00	31-29-22-34-0314
St Paul MN 55102-3359 *488 WABASHA ST N 403 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***		=	\$28.39	
Richard David Misukanis 1866 Sterling St N	CIC NO 646 FITZGERALD CONDOS UNIT NO.404	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89	\$28.39 \$0.00	31-29-22-34-0315
Maplewood MN 55109-5000 *488 WABASHA ST N 404 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***		_	\$28.39	

Mill and Overlay - Downtown 31.90 0.89 \$28.39 Matthew Sampers 31-29-22-34-0316 CIC NO 646 FITZGERALD CONDOS UNIT NO.405 0.00 Flat Sidewalk Reconstruction 1.00 \$0.00 488 Wabasha St N Unit 405 St Paul MN 55102-1137 \$28.39 *488 WABASHA ST N 405 *** Owner and Taxpayer ***

*Ward: 2

Jeb Zaun	CIC NO 646 FITZGERALD CONDOS	Mill and Overlay - Downtown	31.90	0.89	\$28.39	31-29-22-34-0325
1170 Oakcrest Ave	UNIT NO.506	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
Roseville MN 55113-3218					\$28.39	
*488 WABASHA ST N 506		*** Owner and Taxpayer ***				

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Connor Ifkewitsch Bernard Ifkewitsch	CIC NO 646 FITZGERALD CONDOS UNIT NO.507	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89 0.00	\$28.39 \$0.00	31-29-22-34-0326	
488 Wabasha St N Unit 507 St Paul MN 55102-1138 *488 WABASHA ST N 507 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***	***		\$28.39		
Thomas Colvin 488 Wabasha St # 508 St Paul MN 55102-1138	CIC NO 646 FITZGERALD CONDOS UNIT NO.508	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89 0.00	\$28.39 \$0.00 \$28.39	31-29-22-34-0327	
* 488 WABASHA ST N 508 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			Q2 0107		
Therese K Herrera 488 Wabasha St N Unit 601 St Paul MN 55102-1138	CIC NO 646 FITZGERALD CONDOS UNIT NO.601	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89 0.00	\$28.39 \$0.00 \$28.39	31-29-22-34-0328	
*488 WABASHA ST N 601 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			ψ20.3 <i>)</i>		
Pa Xiong 488 Wabasha St N Unit 602	CIC NO 646 FITZGERALD CONDOS UNIT NO.602	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.89 0.00	\$28.39 \$0.00	31-29-22-34-0329	

*** Owner and Taxpayer ***

*488 WABASHA ST N 602 *Ward: 2

*Pending as of: 1/26/2021

St Paul MN 55102-1138

\$28.39

Alano Society Of St Paul Inc
520 Robert St N
St Paul MN 55101-2210
*520 ROBERT ST N

*Pending as of: 1/26/2021

ROBERTS & RANDALL'S ADDITION TO ST. PAUL WITH ESMT OVER NELY 20 FT OF SELY 75 FT OF LOT 11 THE FOL SELY 50 FT OF LOTS 8 AND 9 SELY 50 FT OF PART OF LOT 10 SWLY *** Owner and Taxpayer *** OF OLD RANDALL L SELY 75 FT OF

Mill and Overlay - Downtown Flat Sidewalk Reconstruction

190.00 31.90 \$6,061.00 1.00 0.00\$0.00 \$6,061.00

31-29-22-43-0004

Ratification Date: Resolution #:							
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Rossmor Partners Llc Co Halverson And Blaiser Group 275 E 4th St Unit 720	ROBERTS & RANDALL'S ADDITION TO ST. PAUL EX SWLY 48 FT LOTS 1 AND LOT 2 BLK 10	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	102.00 0.00	\$3,253.80 \$0.00 \$3,253.80	31-29-22-43-0019	
St Paul MN 55101-1907 *513 JACKSON ST *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***					
Rossmor Kpt Llc	ROBERTS & RANDALL'S ADDITION	Mill and Overlay - Downtown	31.90	48.00	\$1,531.20	31-29-22-43-0020	
275 E 4th St Unit 720 St Paul MN 55102-1907	TO ST. PAUL SWLY 48 FT OF LOTS 1 AND LOT 2 BLK 10	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00		
*148 10TH ST E *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***					
Rossmor Kpt Llc 275 E 4th St Unit 720	ROBERTS & RANDALL'S ADDITION TO ST. PAUL LOT 4 BLK 10	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	50.00	\$1,595.00 \$0.00	31-29-22-43-0022	
St Paul MN 55102-1907 FO 10TH ST E Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$1,595.00		
Rossmor Kpt Llc 275 E 4th St Unit 720	ROBERTS & RANDALL'S ADDITION TO ST. PAUL LOT 11 BLK 10	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	50.00	\$1,595.00 \$0.00	31-29-22-43-0024	
St Paul MN 55102-1907 * 141 		*** Owner and Taxpayer ***			\$1,595.00		

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 #:

Ratification Date: Resoluti	tion #
-----------------------------	--------

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rossmor Kpt Llc 275 E 4th St Unit 720 St Paul MN 55102-1907 *145 9TH ST E *Ward: 2 *Pending as of: 1/26/2021	ROBERTS & RANDALL'S ADDITION TO ST. PAUL SWLY 50 FT OF LOT 12 AND SWLY 40 FT OF LOTS 13 AND LOT 14 BLK 10	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	40.00 0.00 =	\$1,276.00 \$0.00 \$1,276.00	31-29-22-43-0025
Bfs Retail Com Operations Llc 333 Lake St E Bloomingdale IL 60108-1193 *491 JACKSON ST *Ward: 2 *Pending as of: 1/26/2021	ROBERTS & RANDALL'S ADDITION TO ST. PAUL NELY 100 FT OF LOT 12 & NELY 110 FT OF LOTS 13 & LOT 14 BLK 10	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner ***	31.90 1.00	110.00	\$3,509.00 \$0.00 \$3,509.00	31-29-22-43-0026
Bridgestone Americias Holding Tax Dept Po Box 100 La Vergne TN 37086-0100 *491 JACKSON ST *Ward: 2 *Pending as of: 1/26/2021	ROBERTS & RANDALL'S ADDITION TO ST. PAUL NELY 100 FT OF LOT 12 & NELY 110 FT OF LOTS 13 & LOT 14 BLK 10	*** Taxpayer and 3rd Party ***				31-29-22-43-0026
City Of St Paul Public Safety Public Safety Annex 15 Kellogg Blvd Rm 140 St Paul MN 55102-1613 *100 10TH ST F	LAMPREY'S SUBDIVISION OF PART OF BLK 11, ROBERTS AND RANDALL'S ADDITION TO ST. PAUL LOTS 4 AND LOT 5	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	122.00 0.00 =	\$3,891.80 \$0.00 \$3,891.80	31-29-22-43-0030 ***EXEMPT***

*100 10TH ST E

*Ward: 2

13:30:16	3/29/2021
----------	-----------

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Donerly Inc 1810 Ithaca Ln N Plymouth MN 55446-3438	ROBERTS & RANDALL'S ADDITION TO ST. PAUL LOT 6 BLK 11	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	62.00 12,937.20 =	\$1,977.80 \$12,937.20 \$14,915.00	31-29-22-43-0031
Fraction 18 ST E Ward: 2 Pending as of: 1/26/2021		Owner and Taxpayer				
Donerly Inc 1810 Ithaca Ln N	ROBERTS & RANDALL'S ADDITION TO ST. PAUL LOT 7 BLK 11	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	85.00 13,233.61	\$2,711.50 \$13,233.61	31-29-22-43-0032
Plymouth MN 55446-3438 *81 9TH ST E *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$15,945.11	
Dlive Tree Properties Llc 127 Spruce Place	LAMPREY'S SUBDIVISION OF PART OF BLK 11, ROBERTS AND RANDALL'S ADDITION TO ST. PAUL	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	50.00 7,936.67	\$1,595.00 \$7,936.67	31-29-22-43-0033
St Paul MN 55110-4731 F93 9TH ST E Ward: 2 Pending as of: 1/26/2021	LOTS 6 AND LOT 7	*** Owner and Taxpayer ***			\$9,531.67	
Steelhead Properties Llc 22922 Manning Trl N	LAMPREY'S SUBDIVISION OF PART OF BLK 11, ROBERTS AND RANDALL'S ADDITION TO ST. PAUL	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	25.00 3,968.34	\$797.50 \$3,968.34	31-29-22-43-0034
Scandia MN 55073-9513 * 97 9TH ST E	LOT 8	*** Owner and Taxpayer ***		_	\$4,765.84	

*Ward: 2

*Pending as of: 1/26/2021

Page 34

Manager: LM

Ratification Date: Resolution #:											
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID					
Steelhead Properties Llc 22922 Manning Trl N Scandia MN 55073-9513 *117 9TH ST E *Ward: 2 *Pending as of: 1/26/2021	LAMPREY'S SUBDIVISION OF PART OF BLK 11, ROBERTS AND RANDALL'S ADDITION TO ST. PAUL EX NELY 20 FT FOR ST LOT 15 AND ALL OF LOT 14	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	37.00 5,555.67 =	\$1,180.30 \$5,555.67 \$6,735.97	31-29-22-43-0037					
Housing And Redev Authority 25 4th St W 12th Flr St Paul MN 55102-1634 *95 7TH ST E *Ward: 2 *Pending as of: 1/26/2021	ROBERTS & RANDALL'S ADDITION TO ST. PAUL EX LOTS 5 AND 6 AND SWLY PART OF LOTS 7 8 AND 9 MEASURING 90 98/100 FT ON NWLY L OF LOT 7 AND 90 22/100 FT ON NWLY L OF WIDENED 8TH ST AND	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	233.00 46,832.14 =	\$7,432.70 \$46,832.14 \$54,264.84	31-29-22-43-0065					
Hfs Properties Co Commercial Real Estate Serv 85 7th Place E Ste 200 St Paul MN 55101-2106 *81 7TH ST E *Ward: 2 *Pending as of: 1/26/2021	ROBERTS & RANDALL'S ADDITION TO ST. PAUL SWLY PART OF LOTS 7 AND 8 AND OF PART OF LOT 9 NWLY OF WIDENED 8TH ST MEASURING 90 98/100 FT ON NWLY L OF LOT 7 AND 90 22/100 FT ON NWLY L OF SD ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	90.00 13,080.07	\$2,871.00 \$13,080.07 \$15,951.07	31-29-22-43-0066					
Mark A Erickson 66 9th St E Unit 1201 St Paul MN 55101-4700 *66 9TH ST E 1201	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1201	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0068					

*Pending as of: 1/26/2021

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date:

Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mark A Pearson 66 9th St E Unit 1306	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1306	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0085
St Paul MN 55101-4700 *66 9TH ST E 1306 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$138.56	
Nicholas R Snodgrass 66 9th St E #1316 St Paul MN 55101-4700	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1316	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0095
*66 9TH ST E 1316 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$136.30	
Diane Pagel 66 9th St E Unit 1401	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1401	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0096
St Paul MN 55101-2253 *66 9TH ST E 1401 *Ward: 2 *Pending as of: 1/26/2021	K1401	*** Owner and Taxpayer ***		_	\$138.56	
Freeman Ng 66 9th St E Unit 1409	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1409	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0102
St Paul MN 55101-4700 *66 9TH ST E 1409		*** Owner and Taxpayer ***			\$138.56	

Page 36

Manager: LM

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM **Ratification Date: Resolution #: Property Description Unit Rate Item Description Quantity Charge Amts Property ID** Mill and Overlay - Downtown 31.90 0.60 \$19.14 CONDOMINIUM NUMBER 203 CITY 31-29-22-43-0119 WALK CONDOMINIUM UNIT NO Flat Sidewalk Reconstruction 1.00 119.42 \$119.42 R1512

*66 9TH ST E 1512 *Ward: 2 *Pending as of: 1/26/2021	R1512	*** Owner and Taxpayer ***		_	\$138.56	
Providential Family Properties Llc 13765 Fordham Ct St Paul MN 55124-4116 *66 9TH ST E 1605 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1605	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42	\$19.14 \$119.42 \$138.56	31-29-22-43-0127
Nancie J Litin 66 9th St E Unit 1701 St Paul MN 55101-4700 *66 9TH ST E 1701 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1701	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42	\$19.14 \$119.42 \$138.56	31-29-22-43-0139
Seth D Danielson 66 9th St E Unit 1704 St Paul MN 55101-2254	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1704	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60	\$19.14 \$119.42 \$138.56	31-29-22-43-0142

*** Owner and Taxpayer ***

Owner or Taxpayer

Kaku W Ephraim

66 9th St 1512

*66 9TH ST E 1704

*Ward: 2

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500	Manager: LM	Page 38
	Ratification Date: Resolution #:		

		Ratification Date: Resolutio	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brook Trout Properties Llc	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0155
22922 Manning Trl	WALK CONDOMINIUM UNIT NO R1802	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
Scandia MN 55073-9513					\$138.56	
*66 9TH ST E 1802		*** Owner and Taxpayer ***				
Ward: 2 Pending as of: 1/26/2021						
1 Chang as 61. 1/20/2021						
Abdul Hye Khan	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0157
Anees Fatima Khan	WALK CONDOMINIUM UNIT NO R1804	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	012/22 10 013/
66 9th St E Unit 1804	K1804			=	\$138.56	
St Paul MN 55101-4700		*** Owner and Taxpayer ***				
666 9TH ST E 1804						
*Ward: 2 *Pending as of: 1/26/2021						
					·	
Stewart K Hunt	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0161
66 9th St E # 1808 St Paul MN 55101-4700	R1808	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
666 9TH ST E 1808		*** Owner and Taxpayer ***			\$138.56	
Ward: 2		owner and raxpayer				
*Pending as of: 1/26/2021						
Kyle Piwek	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0172
66 9th St E Unit 1904	WALK CONDOMINIUM UNIT NO R1904	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
t Paul MN 55101-4700		white O 1 Th and the			\$138.56	
*66 9TH ST E 1904		*** Owner and Taxpayer ***				

	r ubite improvement Assessment Re	Ratification Date: Resolutio			Wianager: Livi	rage
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Richard A Cardenas Trustee 66 9th St E Unit 1906 St Paul MN 55101-2255 *66 9TH ST E 1906 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1906	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0174
Barbara Ann Mclean 66 9th St E Unit 1916 St Paul MN 55101-4700 *66 9TH ST E 1916 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1916	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0184
Helen Broderick Thomas P Dunne 66 9th St E Unit 2016 St Paul MN 55101-4700 *66 9TH ST E 2016 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2016	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0197
Maureen A Hanson Todd D Hanson 66 9th St E Unit 2107 St Paul MN 55101-4700 *66 9TH ST E 2107	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2107	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0202

<u>Owner or Taxpayer</u>	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James Edward Randolph 66 9th St E #2108 St Paul MN 55101-4700 *66 9TH ST E 2108 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2108	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0203
Eric N Saucier 66 9th St E # 2111 St Paul MN 55101-2256 *66 9TH ST E 2111 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2111	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0206
Rizwan Babar Shah 66 9th St E 2201 St Paul MN 55101-4700 *66 9TH ST E 2201 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2201	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0212

Sharon M Dahlerup 66 9th St E Unit 2208 St Paul MN 55101-2276	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2208	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60	\$19.14 \$119.42 \$138.56	31-29-22-43-0217
*66 9TH ST E 2208		*** Owner and Taxpayer ***			\$136.30	

13:30:16 3/29/2021	Public Improvement Assessment Ro	oll by PID (Fee to Asmt) Project Ratification Date: Resolutio		smt: 205500	Manager: LM	Pa
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brook Trout Properties Llc 22922 Manning Trl	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2308	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0231
*66 9TH ST E 2308 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$138.56	
City Walk Condominium Assn C/O Cedar Management 7260 University Ave Ne Ste 200	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2502	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42 \$138.56	31-29-22-43-0255
Fridley MN 55432-3128 *66 9TH ST E 2502 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$138.30	
Abraham Godwin 66 9th St E Unit 2513	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2513	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0264
St Paul MN 55101-2277 *66 9TH ST E 2513 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$138.56	

Stephanie Andresen 11171 256th Ave Nw	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0279
Zimmerman MN 55398-4733	R2614				\$138.56	
*66 9TH ST E 2614		*** Owner and Taxpayer ***				

		Ratification Date: Resolutio	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Abdelsattar A Kamel	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0283
Nawal M Kamel	WALK CONDOMINIUM UNIT NO R2702	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
66 9th St E Unit 2702					\$138.56	
St Paul MN 55101-4700		*** Owner and Taxpayer ***				
*66 9TH ST E 2702 *Ward: 2						
*Pending as of: 1/26/2021						
		Mill 10 1 D	21.00	0.60	ф10.1 <i>A</i>	
Donna M Wilkens	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0284
66 9th St E Unit 2705 St Paul MN 55101-2282	R2705	That Sidewalk Reconstruction	1.00	=	\$138.56	
*66 9TH ST E 2705		*** Owner and Taxpayer ***			\$138.56	
*Ward: 2		o wher who rumpujer				
*Pending as of: 1/26/2021						
Olive Tree Properties Llc 2127 Spruce Place St Paul MN 55110-4731 *66 9TH ST E 2707 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2707	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0286
Grant K Judd 66 9th St E Unit 1403	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0296
St Paul MN 55101-4700	R1403 & GARAGE UNIT 25			=	\$138.56	
*66 9TH ST E 1403		*** Owner and Taxpayer ***				

		Ratification Date: Resolution	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Harold M Evanoff 66 9th St E Unit 1516 St Paul MN 55101-4700 *66 9TH ST E 1516 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1516 & GARAGE UNIT 49	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0520
Lacey Elizabeth Jamieson 66 9th St E # 2109 St Paul MN 55101-4700 *66 9TH ST E 2109 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2109 & GARAGE UNIT 18	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 <u>=</u>	\$19.14 \$119.42 \$138.56	31-29-22-43-0526
Lindsay Peterson 66 9th St E Unit 2112 St Paul MN 55101-4700 *66 9TH ST E 2112 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2112 & GARAGE UNIT 75	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0530
Neal D Gosman Sandra L Pappas 66 9th St E Unit 2605 St Paul MN 55101-4700 *66 9TH ST E 2605	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2601 & R2605 & GARAGE UNIT 194	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0533

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Raymond P Aguirre	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0534
Mihoko Aguirre	WALK CONDOMINIUM UNIT NO R2006 & GARAGE UNIT 128 &	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
56 9th St E Unit 2006 St Paul MN 55101-2256	GARAGEUNIT 111	*** Owner and Taxpayer ***			\$138.56	
*66 9TH ST E 2006		Owner and Taxpayer				
*Ward: 2						
*Pending as of: 1/26/2021						
Savion Hollie	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0536
66 9th St E Unit 2310	WILLY COMPONENT LIBERTIO	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	012) 22 10 0000
St Paul MN 55101-4700	R2510 & GARAGE CIVIT 143			_	\$138.56	
*66 9TH ST E 2310 *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
 William P Boland	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0540
115 N 1st St Apt 506	WALK CONDOMINIUM UNIT 1307R & GARAGE UNIT G11	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
Minneapolis MN 55401-4311		and the state of t			\$138.56	
*66 9TH ST E 1307 *Ward: 2		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 1/26/2021						
1. 1. 20/2021						
John W Adams	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNITS R1604	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0547
66 9th St E Unit 1604	& G13	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
St Paul MN 55101-2254		*** Owner and Taxpayer ***			\$138.56	
*66 9TH ST E 1604		Owner and Taxpayer ****				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Irina Kasperovich 66 9th St E Unit 1811 St Paul MN 55101-2255 *66 9TH ST E 1811 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1811 & GARAGE UNIT 56	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 <u>=</u>	\$19.14 \$119.42 \$138.56	31-29-22-43-0553
Ho L Lum 66 9th St E Unit 2015 St Paul MN 55101-2256 *66 9TH ST E 2015 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2015 & GARAGE UNIT 196	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0562
Fesse S Ellis 66 9th St Unit 1702 6t Paul MN 55101-2254 6 66 9TH ST E 1702 6Ward: 2 6Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1702 & GARAGE UNIT 151	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0565
Patricia A Daddario 66 9th E Unit 1505 St Paul MN 55101-4700 * 66 9TH ST E 1505	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1505 & GARAGE UNIT 91	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0568

	F	Ratification Date: Resolution	n #:		g	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rafael E Ortega 66 9th St E Unit 2002 St Paul MN 55101-4700 *66 9TH ST E 2002 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2002 & GARAGE UNIT 3	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0573
Glynn Murphy 66 9th St E Unit 1911 St Paul MN 55101-4700 *66 9TH ST E 1911 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1911 & GARAGE UNIT 27	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0578
Claudia J Nicholson 66 9th St E 1216 St Paul MN 55101-4701 *66 9TH ST E 1216 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1216 & GARAGE UNIT 28	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0580
Kathleen L Brady 66 9th St E Unit 2213 St Paul MN 55101-2276 *66 9TH ST E 2213	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2213 & GARAGE UNIT 82	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0582

*Pending as of: 1/26/2021

Page 46

10.00.10 0/2//2021	1 ubite improvement Assessment Ro	Ratification Date: Resolution		sint. 203300	Manager. Livi	1 age			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID			
Theodore P Kurhajetz 66 9th St E St Paul MN 55101-2256 *66 9TH ST E 2102	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2102 & GARAGE UNIT 138	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0583			
*Ward: 2 *Pending as of: 1/26/2021									
Jerry L Thompson E3200 1430th Ave Prairie Farm WI 54762	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1609 & GARAGE UNIT 159	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42 \$138.56	31-29-22-43-0591			
*66 9TH ST E 1609 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***							
Yevgeniy A Yevtikhov 487 Owasso Hills Dr St Paul MN 55113-2153	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1714 & GARAGE UNIT 35	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42 \$138.56	31-29-22-43-0592			
*66 9TH ST E 1809 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			ф136.3 0				
Patricia Sabourin 66 9th St E Unit 2509 St Paul MN 55101-4700	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2509 & GARAGE UNIT 90	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0602			
*66 9TH ST E 2509		*** Owner and Taxpayer ***			\$120.20				

13:30:16 3/29/2021	Public Improvement Assessment Ro	oll by PID (Fee to Asmt) Project Ratification Date: Resolutio		smt: 205500	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ian M Holmes 66 9th St E #1212 St Paul MN 55101-4700 *66 9TH ST E 1212 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1212 & GARAGE UNIT 125	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0606
Mark M Kraby Constance M Kraby 66 9th St E #2709 St Paul MN 55101-4700 *66 9TH ST E 2709 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R2709 & GARAGE UNIT 164	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0611
Leslie O Garner 66 E 9th St Unit 2105 St Paul MN 55101-4700	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNITS NO R-2105 & G-165 & GARAGE UNIT 167	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42 \$138.56	31-29-22-43-0615

*66 9TH ST E 2105 *Ward: 2

*Pending as of: 1/26/2021

Miyoko N Omori 66 9th St E 1213 Unit R1213	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1213 & GARAGE UNIT 70	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0616
St Paul MN 55101-4700	Rizis & Gridiol Civil 70				\$138.56	
*66 9TH ST E 1213		*** Owner and Taxpayer ***				

*** Owner and Taxpayer ***

*Ward: 2

13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Page 49
Ratification Date: Resolution #:

	Fusite improvement rissessment res	Ratification Date: Resolutio			g	··•
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Adam F Haidet 66 9th St E Unit 2708 St Paul MN 55101-2282 *66 9TH ST E 2708 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R 2708 & GARAGE UNIT 78	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0626
Kerry K Grant 66 9th St E Unit 1303 St Paul MN 55101-4701 *66 9TH ST E 1303 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R1303 & GARAGE UNIT 87	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0628
Mavis Callovi Lou Callovi 66 9th St E Unit 1815 St Paul MN 55101-4700 *66 9TH ST E 1815 *Ward: 2 *Pending as of: 1/26/2021	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO R 1815 & GARAGE UNIT 106 & GARAGE UNIT 83	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0631
Wanda M Czyszczon Trustee 14505 Minnetonka Dr Unit 120 Minnetonka MN 55345-2210 *66 9TH ST E R1608	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO. R1608 & GARAGE UNIT 180	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0641

*Ward: 2

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asm	t) Project: MO2008 Assmt: 205500	Manager: LM	Page 50
	Ratification Date:	Resolution #:		

		Ratification Date: Resolutio	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elaine Mcmahon	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0644
66 9th St E Unit 2314 St Paul MN 55101-4700	WALK CONDOMINIUM UNIT NO.R2314 & GARAGE UNIT 176	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
*66 9TH ST E 2314		*** Owner and Taxpayer ***			\$138.56	
*Ward: 2		o with and rampayor				
*Pending as of: 1/26/2021						
Rafael E Ortega	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0646
66 9th St E Unit 2002 St Paul MN 55101-2255	NO.R2010 & GARAGE UNIT 204	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
*66 9TH ST E 2010		*** Owner and Taxpayer ***			\$138.56	
*Ward: 2		o with and rampayor				
*Pending as of: 1/26/2021						
Jeffrey W Passofaro Ii	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0647
66 9th St E Unit 1506	WALK CONDOMINIUM GARAGE UNIT NO.153 & UNIT NO.R1506	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	31-27-22-43-0047
St Paul MN 55101-4700	UNII NO.133 & UNII NO.R1300			=	\$138.56	
*66 9TH ST E 1506 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
1 Chang as 01. 1/20/2021						
Patrick K Drain	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0651
Joann D Drain	WALK CONDOMINIUM UNIT NO.R2205 & GARAGE UNIT 187	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	3 2 · · · · · · · · · · · · ·
66 9th St E Unit 2205	NO.REZUS & GARAGE CIAIT 107			_	\$138.56	
St Paul MN 55101-4700		*** Owner and Taxpayer ***				

*66 9TH ST E 2205

*Ward: 2

Mill and Overlay - Downtown 0.60 31.90 \$19.14 Lawrence Martin CONDOMINIUM NUMBER 203 CITY 31-29-22-43-0664 WALK CONDOMINIUM UNIT Flat Sidewalk Reconstruction 1.00 119.42 \$119.42 Claire Martin NO.R1603 & GARAGE UNIT 97 66 9th St E Unit 1603 \$138.56 St Paul MN 55101-4700 *** Owner and Taxpayer ***

*Ward: 2

*Pending as of: 1/26/2021

*66 9TH ST E 1603

	F	Ratification Date: Resolution	n #:		C	- "		
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
G Robert Mclean Barbara A Mclean 66 9th St E St Paul MN 55101-4700	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO.R1915 & GARAGE UNIT 1 & GARAGE UNIT 67	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0668		
66 9TH ST E 1915 Ward: 2 Pending as of: 1/26/2021		Owner and Taxpayer						
Janie Hall 66 9th St E Unit 1503 St Paul MN 55101-4700 *66 9TH ST E 1608 *Ward: 2	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO.R1503 & GARAGE UNIT 123	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-0669		
Pending as of: 1/26/2021 Cobert B Geurs 6 9th St E Unit 2615	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT NO.R2615	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42	31-29-22-43-0670		
t Paul MN 55101-4700 66 9TH ST E 2615 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$138.56			
Frederick I Sklenar Annette C Hennekens-Sklenar 66 9th St Unit 1413	CONDOMINIUM NUMBER 203 CITY WALK CONDOMINIUM UNIT R1413 & UNIT G-62	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.60 119.42	\$19.14 \$119.42	31-29-22-43-0671		
St Paul MN 55101-7964		*** Owner and Taxpayer ***			\$138.56			

*66 9TH ST E 1413

*Ward: 2

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Ratification

n Dat	e:	Reso	lution	#
ıı vat		11030	ւսստո	π

		Ratification Date: Resolutio	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elisabeth A Tisdell	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0683
2800 Marion Ln W Apt 701	WALK CONDOMINIUM UNIT NO.R2207	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
Minnetonka MN 55305-1367					\$138.56	
666 9TH ST E 2207		*** Owner and Taxpayer ***				
Ward: 2						
*Pending as of: 1/26/2021						
Deborah Ann Flies	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-0688
66 9th St E # 2101	WALK CONDOMINIUM UNIT NO.R2101 & GARAGE UNIT 141	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
St Paul MN 55101-4700	No.R2101 & GARAGE CIVIT 111			_	\$138.56	
*66 9TH ST E 2101		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 1/26/2021						
Nick Vlcek Po Box 44355 Eden Prairie MN 55344-1355 * 145 10TH ST E	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.100	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0689
Ward: 2 Pending as of: 1/26/2021						
Charles R Hanna Trustee	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE	Mill and Overlay - Downtown	31.90	3.41	\$108.78	31-29-22-43-0690
Sharon M Werner Trustee	LOFTS UNIT NO.101	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
2552 Hillwood Dr E		ቁቁቁ <u>ለ</u> ነጥ ቀቀቀ			\$108.78	
Maplewood MN 55119-6788 * 147 10TH ST E		*** Owner and Taxpayer ***				

*147 10TH ST E

*Ward: 2

COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE

LOFTS UNIT NO.210

13:30:16 3/29/2021	-		O (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM ion Date: Resolution #:			Page 5
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Sondra L Pelvit 3006 Rhode Island Ave S	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.205	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	3.41 0.00	\$108.78 \$0.00	31-29-22-43-0696
Minneapolis MN 55426-3655 * 523 JACKSON ST 205 *Ward: 2 *Pending as of: 1/26/2021	LOFIS UNII NO.205	*** Owner and Taxpayer ***		=	\$108.78	
Jon Beecher 825 N 7th St Unit 202 Coeur D Alene ID 83814-6249 *523 JACKSON ST 206 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.206	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0697
Marc W Schwake 523 Jackson St Unit 207 St Paul MN 55101-2321 *523 JACKSON ST 207 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.207	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0698

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

31.90

1.00

3.41

0.00

\$108.78

\$108.78

\$0.00

Martha Preus 1815 Goodrich Ave St Paul MN 55105-1908

*523 JACKSON ST 210

*Ward: 2

*Pending as of: 1/26/2021

31-29-22-43-0701

]	Ratification Date: Resolution	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Margaret M Austin Stephenson 2018 Baihly Hills Dr Sw Rochester MN 55902-4200 *523 JACKSON ST 213 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.213	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0704
James Mcclean 523 Jackson St Unit 216 St Paul MN 55101-2321 *523 JACKSON ST 216 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.216	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0707
Evert Veldhuizen Jr Renee K Veldhuizen 781 Cascade Dr Chaska MN 55318-1888 *523 JACKSON ST 217 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.217	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0708
Kirsten Henry Scott Henry 523 Jackson St # 218 St Paul MN 55101-2321 *523 JACKSON ST 218	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.218	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0709

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 20	05500 Manager: LM	Page 56
	Ratification Date: Resolution #:		

	1	Ratification Date: Resolutio	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jennifer Bjorklund	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	3.41	\$108.78	31-29-22-43-0712
523 Jackson St #303	NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.303	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-2321	20113 0112110000			_	\$108.78	
*523 JACKSON ST 303		*** Owner and Taxpayer ***				
*Ward: 2						
*Pending as of: 1/26/2021						
Sean P Bogie	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	3.41	\$108.78	31-29-22-43-0717
523 Jackson St Unit 308	NUMBER 495 PRODUCE EXCHANGE	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	31-27-22-43-0717
St Paul MN 55101-2321	LOFTS UNIT NO.308			=	\$108.78	
*523 JACKSON ST 308 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Debra L Ceci 523 Jackson St #309 St Paul MN 55101-2321	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.309	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	3.41 0.00	\$108.78 \$0.00 \$108.78	31-29-22-43-0718
523 JACKSON ST 309		*** Owner and Taxpayer ***				
*Ward: 2						
*Pending as of: 1/26/2021						
Jonathan Penny	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE	Mill and Overlay - Downtown	31.90	3.41	\$108.78	31-29-22-43-0719
523 Jackson St Unit 310 St Paul MN 55101-2321	LOFTS UNIT NO.310	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$108.78	
*523 JACKSON ST 310		*** Owner and Taxpayer ***				

13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Page 57
Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Connor Mcmahon 523 Jackson St Unit 312 St Paul MN 55101-2321 *523 JACKSON ST 312 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.312	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0721
Jarett J Lettner Nicole A Lettner 615 Montcalm Pl St Paul MN 55116-1732 *523 JACKSON ST 315 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.315	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0724
Mark E Hamilton 71 Lakeview Ave St Paul MN 55117-4023 6523 JACKSON ST 317 6Ward: 2 6 Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.317	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0726
Lawrence S Braginsky 523 Jackson St Unit 318 St Paul MN 55101-2321 *523 JACKSON ST 318	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.318	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-0727

13:30:16 3/29/2021	Public Improvement Assessment Ro	oll by PID (Fee to Asmt) Project Ratification Date: Resolution		smt: 205500	Manager: LM	Page 58
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David Verlo	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0729
Deborah Verlo	NUMBER 499 THE POINTE OF ST PAUL UNIT R402	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	01 29 22 10 0.29
78 10th St E Unit R402	PAUL UNIT R402			-	\$13.08	

*** Owner and Taxpayer ***

*78 10TH ST E R402

St Paul MN 55101-2247

*Ward: 2

*Pending as of: 1/26/2021

Sheldon D Strom Trustee C/O Barbara Randazza	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R404	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0731
78 10th St E Unit 404	FAOL ONIT R404	*** 0 17 ***		_	\$13.08	
st Paul MN 55101-2247 *78 10TH ST E R404		*** Owner and Taxpayer ***				
*Ward: 2						
*Pending as of: 1/26/2021						

Stephanie A Peterson	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0732
78 10th St E #405	NUMBER 499 THE POINTE OF ST	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-2247	PAUL UNIT R405				\$13.08	
*78 10TH ST E R405		*** Owner and Taxpaver ***				

*Ward: 2

*Pending as of: 1/26/2021

Steven L Lemay	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0733
12240 23rd Ave S	NUMBER 499 THE POINTE OF ST PAUL UNIT R406	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
Burnsville MN 55337-3101	FAUL UNIT R400				\$13.08	
*78 10TH ST F R406		*** Owner and Taxnaver ***				

*Ward: 2

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jesusa S Toledo 78 10th St E Unit 502 St Paul MN 55101-2247	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R502	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0735
FY8 10TH ST E R502 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Jeffrey Crandall	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0737
78 10th St E Unit 504 St Paul MN 55101-2248	PAUL UNIT R504	That Sidewalk Reconstruction	1.00	=	\$13.08	
* 78 10TH ST E R504 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$15.00	
David L Dawson Jr	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0739
78 10th St E Unit R506 St Paul MN 55101-2247	NUMBER 499 THE POINTE OF ST PAUL UNIT R506 & UNIT P170	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$13.08	
*78 10TH ST E R506 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			Ψ15.00	
Randall L Anderson 2474 Lemond Rd Owatonna MN 55060-5052	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R604 & UNIT P147	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41	\$13.08 \$0.00 \$13.08	31-29-22-43-0747
*78 10TH ST E R604		*** Owner and Taxpayer ***			\$13.00	

Owner or Taxpayer	Property Description	Ratification Date: Resolution		Quantity	Chango Amts	Duonouty ID
Maryanne Danielson 78 10th St E Unit 607 St Paul MN 55101-2247 *78 10TH ST E R607 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R607	Item Description Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	Property ID 31-29-22-43-0750
Aaron Brixius 78 10th St E Unit 608 St Paul MN 55101-2248 *78 10TH ST E R608 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R608 & UNIT P54	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0751
Stephanie Lee 78 10th St E Unit 609 St Paul MN 55101-2248 *78 10TH ST E R609 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R609	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0752

Lawrence G Erickson	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0754
2725 146th Ave Ne	NUMBER 499 THE POINTE OF ST PAUL UNIT R701	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
Andover MN 55304-6422	FAUL UNIT K/01				\$13.08	
*78 10TH ST E R701		*** Owner and Taxpayer ***				

13:30:16 3/29/2021	Public Improvement Assessment	Roll by PID (Fee to Asm Ratification Date:	nt) Project: MO2008 Assi Resolution #:	mt: 205500	Manager: LM	Page 61
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID

		Ratification Date: Resolution					
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Aaron Wood	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0759	
78 10th St E Unit 706	NUMBER 499 THE POINTE OF ST PAUL UNIT R706	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00		
St Paul MN 55101-2247					\$13.08		
*78 10TH ST E R706		*** Owner and Taxpayer ***					
*Ward: 2 *Pending as of: 1/26/2021							
1 Chaing as 61. 1/20/2021							
Jeffrey J Gunvalson	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0762	
1337 Sheridan Ave N	NUMBER 499 THE POINTE OF ST PAUL UNIT R709	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00		
Minneapolis MN 55411-2943		*** Owner and Taxpayer ***			\$13.08		
*78 10TH ST E R709 *Ward: 2		Owner and Taxpayer					
*Pending as of: 1/26/2021							
Craig Wenberg	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	 0.41	\$13.08	31-29-22-43-0771	
78 10th St 808	NUMBER 499 THE POINTE OF ST	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	31-29-22-43-07/1	
St Paul MN 55101-2247	PAUL UNIT R808			=	\$13.08		
*78 10TH ST E R808		*** Owner and Taxpayer ***			4-5		
*Ward: 2							
*Pending as of: 1/26/2021							
Didado Dalamari	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	21 20 22 42 6552	
Richard R Bohannon Ii Anna Mercedes	NUMBER 499 THE POINTE OF ST	Flat Sidewalk Reconstruction	1.00	0.41	\$0.00	31-29-22-43-0772	
604 Graceview Loop	PAUL UNIT R809	That Sidewalk Reconstitution	1.00	=	\$13.08		
004 Glaceview Loop		destruction 1.75 destruction			\$13.08		

*** Owner and Taxpayer ***

604 Graceview Loop Saint Joseph MN 56374-4659 ***78 10TH ST E R809**

*Ward: 2

*Pending as of: 1/26/2021

 $StPaul_Assessment_Roll_Assessment_by_PID_Fee_to_Asmt.rpt$

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James D Allen 78 10th St E Unit R810 St Paul MN 55101-2247	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R810	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0773
* 78 10TH ST E R810 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Kenneth A Ryder Tr	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0781
Christina O Ryder Tr 379 Santa Isabel Ave	NUMBER 499 THE POINTE OF ST PAUL UNIT R908 & UNIT P252	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$13.08	
Newport Beach CA 92660-3401 *78 10TH ST E R908 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$15.00	
Michael Y Branco	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0784
Michelle R Branco 78 10th St E Unit 1001	NUMBER 499 THE POINTE OF ST PAUL UNIT R1001	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$13.08	
St Paul MN 55101-2247 *78 10TH ST E R1001 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Brenda S Cornelius William J Weisert	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0785
78 10th St E Unit 1002 St Paul MN 55101-2259	PAUL UNIT R1002	*** Owner and Taxpayer ***		=	\$13.08	

*78 10TH ST E R1002

*Ward: 2

	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Robert Costello	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0786	
Susan Costello	NUMBER 499 THE POINTE OF ST PAUL UNIT R1003	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00		
'69 Larson Ln	med erm knoop			_	\$13.08		
Shoreview MN 55126-2047		*** Owner and Taxpayer ***					
78 10TH ST E R1003							
Ward: 2							
Pending as of: 1/26/2021							
ellie J Ryan	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0787	
105 51st Ave N	NUMBER 499 THE POINTE OF ST	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	612 22 16 0 · 0 ·	
ymouth MN 55442-2279	PAUL UNIT R1004 & UNIT P21			=	\$13.08		
78 10TH ST E R1004		*** Owner and Taxpayer ***			4-2-1-0		
Ward: 2		• •					
Pending as of: 1/26/2021							

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

COMMON INTEREST COMMUNITY

COMMON INTEREST COMMUNITY

NUMBER 499 THE POINTE OF ST

NUMBER 499 THE POINTE OF ST

PAUL UNIT R1006

PAUL UNIT R1007

31.90

1.00

31.90

1.00

0.41

0.00

0.41

0.00

78 10th St E Unit 1006 St Paul MN 55101-3265 *78 10TH ST E R1006

*Ward: 2

Todd B Kehrberg

*Pending as of: 1/26/2021

Najam S Qureshi Yusuf Huma 2050 Black Oaks Ln N Plymouth MN 55447-2319

*78 10TH ST E R1007

*Ward: 2

*Pending as of: 1/26/2021

\$13.08

\$0.00

\$13.08

\$13.08

\$0.00

\$13.08

31-29-22-43-0789

31-29-22-43-0790

		n #:				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ixchel E Mckinnie	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0799
Silas A Mckinnie Jr	NUMBER 499 THE POINTE OF ST PAUL UNIT R1106 & UNIT P077	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
78 10th St E Unit 1106		*** 0 1.77 ***			\$13.08	
St Paul MN 55101-2247 *78 10TH ST E R1106 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Roscoe James Addington	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0800
78 10th St E Unit 1107	NUMBER 499 THE POINTE OF ST PAUL UNIT R1107	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-2247		*** 0 1.77 ***			\$13.08	
* 78 10TH ST E R1107 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Matthew J Barber	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08	31-29-22-43-0805
78 10th St E Unit R1202	PAUL UNIT R1202	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00	
St Paul MN 55101-2247 *78 10TH ST E R1202 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$13.08	

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST

PAUL UNIT R1203

Kurt S Altrichter 78 10th St E Unit 1203 St Paul MN 55101-2247

*78 10TH ST E R1203

*Ward: 2

*Pending as of: 1/26/2021

0.41

0.00

\$13.08

\$0.00

\$13.08

 $StPaul_Assessment_Roll_Assessment_by_PID_Fee_to_Asmt.rpt$

31-29-22-43-0806

31.90

1.00

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500	Manager: LM	Page 65
	Ratification Date: Resolution #:		

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Cathleen Adams	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0813
735 Hoyt Ave E	NUMBER 499 THE POINTE OF ST PAUL UNIT R1210	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55106-1007 78 10TH ST E R1210 Ward: 2		*** Owner and Taxpayer ***			\$13.08	
*Pending as of: 1/26/2021						
Deborah A Flies	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0817
66 9th St E Unit 2101	NUMBER 499 THE POINTE OF ST PAUL UNIT R1404	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-2256 *78 10TH ST E R1404 *Ward: 2		*** Owner and Taxpayer ***			\$13.08	
*Pending as of: 1/26/2021						
David B Smith	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0831
650 University Ave W Apt 201 St Paul MN 55114-1923	PAUL UNIT R1508	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
78 10TH ST E R1508 Ward: 2		*** Owner and Taxpayer ***			\$13.00	
*Pending as of: 1/26/2021						
Ronald Draper	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0832
Nadege Draper 0 E 9th St Apt 1103	PAUL UNIT R1509	The Sidewark Reconstruction	1.00	=	\$13.08	
Chicago IL 60605-2146		*** Owner and Taxpayer ***				

*78 10TH ST E R1509

*Ward: 2

13:30:16 3/29/2021	Public Improvement Assessment Ro	oll by PID (Fee to Asmt) Project Ratification Date: Resolution		smt: 205500	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James M Mcclean 523 Jackson St #216 St Paul MN 55101-2464 *78 10TH ST E R1510 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1510	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41	\$13.08 \$0.00 \$13.08	31-29-22-43-0833
Mark S Wallace Mary J Wallace 78 E 10th St Unit 1601 St Paul MN 55101-2247 *78 10TH ST E R1601 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1601	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0834
Max Diederich Marissa Bongiovanni 1240 S 2nd St Unit 615 Minneapolis MN 55415-2619 *78 10TH ST E R1603 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1603	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0836

Mill and Overlay - Downtown 31.90 0.41 \$13.08 Michelle L Cline 31-29-22-43-0838 COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST 0.00 Flat Sidewalk Reconstruction 1.00 \$0.00 Po Box 290153 PAUL UNIT R1605 Minneapolis MN 55429-6153 \$13.08 *78 10TH ST E R1605 *** Owner and Taxpayer ***

*Ward: 2

		Ratification Date: Resolutio	atification Date: Resolution #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Eugene G Joseph Marie S Joseph 1800 Brush Mountain Cir	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1710	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0853
Blacksburg VA 24060-8319 *78 10TH ST E R1710 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
John Kipkowski	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0859
175 2nd St S Apt 803 Saint Petersburg FL 33701-4315	NUMBER 499 THE POINTE OF ST PAUL UNIT R1806	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00 \$13.08	
*78 10TH ST E R1806 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Jonathan J Grev 78 10th St E #1807	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1807 & UNIT P140	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0860
t Paul MN 55101-2247 778 10TH ST E R1807 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$13.08	
Rita A Adams 78 E 10th St Unit 1808	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1808	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0861
St Paul MN 55101-2279 * 78 10TH ST E R1808	MOD CIVIT KIOVO	*** Owner and Taxpayer ***		_	\$13.08	

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Kyle Sass	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0864	
78 10th St E Unit R1901 St Paul MN 55101-2247	PAUL UNIT R1901	Flat Sidewalk Reconstruction	1.00	0.00 =	\$0.00		
* 78 10TH ST E R1901 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$13.08		
Matthew Dreckman 78 10th St E Unit 1902	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0865	
Tending as of: 1/26/2021	PAUL UNIT R1902	* Owner and Taxpayer ***	1.00	=	\$13.08		
James A Buscher 78 10th St E Unit 1905	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1905	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0868	
t Paul MN 55101-2297 78 10TH ST E R1905 Ward: 2 Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$13.08		

Mill and Overlay - Downtown 31.90 0.41 \$13.08 Matthew W Blom 31-29-22-43-0869 COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 78 10th St E Unit 1906 PAUL UNIT R1906 St Paul MN 55101-2247 \$13.08 *78 10TH ST E R1906 *** Owner and Taxpayer ***

*Ward: 2

13:30:16 3/29/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500	Manager: LM	Page 69
	Ratification Date: Resolution #:		

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Andres M Perez 78 10th St E Unit R1907	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R1907	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0870
St Paul MN 55101-2247 F78 10TH ST E R1907 FWard: 2 FPending as of: 1/26/2021		*** Owner and Taxpayer ***			\$13.08	
Mary Weyandt Christopher Weyandt	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0873
78 10th St E Unit 1910 St Paul MN 55101-2247 *78 10TH ST E R1910 *Ward: 2 *Pending as of: 1/26/2021	PAUL UNIT R1910	*** Owner and Taxpayer ***		=	\$13.08	
ennifer Snyder Robert Snyder	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0876
78 10th St E Unit 2003 St Paul MN 55101-2247 F78 10TH ST E R2003 Ward: 2 Pending as of: 1/26/2021	PAUL UNIT R2003	*** Owner and Taxpayer ***		=	\$13.08	
Steven M Jackson John D Lamey Iii	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-0877
3512 36th Ave S Minneapolis MN 55406-2752 *78 10TH ST E R2004	PAUL UNIT R2004	*** Owner and Taxpayer ***		=	\$13.08	

13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 Manager: LM Page 70 Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Steve Possis 78 10th St E # 2005 St Paul MN 55101-2247 *78 10TH ST E R2005 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2005	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0878
Fredrik A Roehrdanz 78 10th St E Unit 2103 St Paul MN 55101-2247 *78 10TH ST E R2103 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2103	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0886
Sarah A Lawrence 3355 Robinson Bay Rd Wayzata MN 55391-2616 *78 10TH ST E R2203 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2203	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0896
Stella Papaconstantinou Isidoros Papaconstantinou 78 E 10th St Unit 2204 St Paul MN 55101-2247 *78 10TH ST E R2204	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2204	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0897

*Ward: 2

13:30:16 3/2	9	/2	021
--------------	---	----	-----

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Harlan D Erickson	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0899
78 10th St E Unit 2206	NUMBER 499 THE POINTE OF ST PAUL UNIT R2206	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-2247		*** O 1 T			\$13.08	
*78 10TH ST E R2206		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 1/26/2021						
Francis Walsh Jill Ouradnik 228 Twin Lake Blvd St Paul MN 55127-4028 *78 10TH ST E R2210 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2210	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0903
Scott L Frederick	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0913
78 10th St E Unit 2310	NUMBER 499 THE POINTE OF ST PAUL UNIT R2310 & P105 & P74	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-2250		*** Owner and Taxpayer ***			\$13.08	
*78 10TH ST E R2310 *Ward: 2		Owner and Taxpayer				
*Pending as of: 1/26/2021						
David Burress	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.41	\$13.08	31-29-22-43-0929

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

1.00

0.00

COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST

PAUL UNIT R2506

Minnetonka MN 55345-3515 *78 10TH ST E R2506 *Ward: 2

4741 Hamilton Rd

*Pending as of: 1/26/2021

\$0.00

\$13.08

Page 71

Manager: LM

Page 72

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Mill and Overlay - Downtown COMMON INTEREST COMMUNITY 31.90 0.41 \$13.08 Steven P Ulrich 31-29-22-43-0930 NUMBER 499 THE POINTE OF ST Flat Sidewalk Reconstruction 0.00 \$0.00 1.00 78 10th St E Unit 2507 PAUL UNIT R2507 St Paul MN 55101-2247 \$13.08 *** Owner and Taxpayer *** *78 10TH ST E R2507 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 0.41 \$13.08 William Mujica COMMON INTEREST COMMUNITY 31-29-22-43-0933 NUMBER 499 THE POINTE OF ST Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 78 10th St E Unit 2510 PAUL UNIT R2510 St Paul MN 55101-2289 \$13.08 *** Owner and Taxpayer *** *78 10TH ST E R2510 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 31.90 0.41 \$13.08 Kyle A Martinson COMMON INTEREST COMMUNITY 31-29-22-43-0939 NUMBER 499 THE POINTE OF ST Flat Sidewalk Reconstruction 1.00 0.00\$0.00 78 10th St E Unit 2606 PAUL UNIT R2606 & UNIT P58 St Paul MN 55101-2247 \$13.08 *** Owner and Taxpayer *** *78 10TH ST E R2606 *Ward: 2 *Pending as of: 1/26/2021 Mill and Overlay - Downtown 0.41 Karmen Pfeiffer Sorenson 31.90 \$13.08 COMMON INTEREST COMMUNITY 31-29-22-43-0940 NUMBER 499 THE POINTE OF ST Flat Sidewalk Reconstruction 0.00\$0.00 1.00

*** Owner and Taxpayer ***

Bart James Sorenson Po Box 2441

PAUL UNIT R2607

Bismarck ND 58502-2441

*78 10TH ST E R2607

*Ward: 2

*Pending as of: 1/26/2021

\$13.08

Manager: LM

Page 73

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500 **Ratification Date:**

Resolution #:

<u>Owner or Taxpayer</u>	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Melissa E Mcmahon 78 10th St E Unit 2608 St Paul MN 55101-2247 *78 10TH ST E R2608 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2608	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0941
Daniel G Martin 78 10th St E Unit 2609 St Paul MN 55101-2289 *78 10TH ST E R2609 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2609	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0942
Karen M Olson 78 10th St E Unit 2802 St Paul MN 55101-2247 *78 10TH ST E R2802 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2802	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0955
Ralph H Peters 78 10th St E Unit 2804 St Paul MN 55101-2289 *78 10TH ST E R2804 *Ward: 2	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2804	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0957

COMMON INTEREST COMMUNITY

NUMBER 499 THE POINTE OF ST

PAUL UNIT R2806 & UNIT P236

		Ratification Date: Resolution #:					
perty ID	<u>Pro</u>	Charge Amts	Quantity	Unit Rate	Item Description	Property Description	Owner or Taxpayer
22-43-0958	31-29-2	\$13.08 \$0.00 \$13.08	0.41 0.00 =	31.90 1.00	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R2805	Tampa FL 33602-4376
	31-29-	\$0.00			Flat Sidewalk Reconstruction	NUMBER 499 THE POINTE OF ST	777 N Ashley Dr Unit 2112 Tampa FL 33602-4376 *78 10TH ST E R2805 *Ward: 2

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

*** Owner and Taxpayer ***

31.90

1.00

0.41

0.00

\$13.08

\$13.08

\$0.00

78 10th St E Unit 2806 St Paul MN 55101-2289

*78 10TH ST E R2806

*Ward: 2

Kevin J Lewis

*Pending as of: 1/26/2021

Mill and Overlay - Downtown 31.90 0.41 \$13.08 31-29-22-43-0968 Denise E Griffith COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST Flat Sidewalk Reconstruction 0.001.00 \$0.00 78 10th St E Unit R2905 PAUL UNIT R2905 St Paul MN 55101-2247 \$13.08 *** Owner and Taxpayer *** *78 10TH ST E R2905

*Ward: 2

*Pending as of: 1/26/2021

Mill and Overlay - Downtown 0.41 Anna Marie Spurr 31.90 \$13.08 31-29-22-43-0970 COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST 0.00 \$0.00 Flat Sidewalk Reconstruction 1.00 78 10th St E Unit 2907 PAUL UNIT R2907 St Paul MN 55101-2247 \$13.08 *** Owner and Taxpayer ***

*78 10TH ST E R2907

*Ward: 2

*Pending as of: 1/26/2021

Page 74

31-29-22-43-0959

10.00.10 0/2/2021	Ratification Date: Resolution #:						
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
James D Campbell Lisa A Campbell 2024 Oakridge St St Paul MN 55119-5329 *78 10TH ST E R3103 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3103	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0986	
Robert C Schuehle 78 10th St E Unit 3106 St Paul MN 55101-2247 *78 10TH ST E R3106 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3106	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0989	
Randall L Anderson 2474 Lemond Rd Owatonna MN 55060-5052 *78 10TH ST E R3108 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3108	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0991	
Tamas Strasser 78 E 10th St Unit 3110 St Paul MN 55101-2247 *78 10TH ST E R3110	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3110	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-0993	

Manager: LM

Page 76

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mark J Jesmer 78 10th St E Unit 3207 St Paul MN 55101-2247	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3207	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00 \$13.08	31-29-22-43-1000
* 78 10TH ST E R3207 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
Jahn Dyvik 1780 Martha Ln	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-1001
*78 10TH ST E R3208 *Ward: 2 *Pending as of: 1/26/2021	PAUL UNIT R3208	*** Owner and Taxpayer ***		=	\$13.08	
Jahn Dyvik Amy Dyvik	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3301	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41 0.00	\$13.08 \$0.00	31-29-22-43-1004
1780 Martha Ln Long Lake MN 55356-9446 *78 10TH ST E R3301 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***			\$13.08	
Pamela S Neal Tr 78 10th St E Unit 3303	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3303	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	0.41	\$13.08 \$0.00	31-29-22-43-1006
St Paul MN 55101-2247 * 78 10TH ST E R3303		*** Owner and Taxpayer ***			\$13.08	

*Ward: 2
*Pending a

	I ubite improvement Assessment Ro	1 age				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Shankar Veluvali Sreejaya Veluvali 78 10th St E Unit 3306 St Paul MN 55101-2247 *78 10TH ST E R3306 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3306	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-1009
Joey M Koppes 78 10th St E Unit 3309 St Paul MN 55101-2247 *78 10TH ST E R3309 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3309	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-1012
Steven W Brown Barbara L Brown 78 10th St E Unit R3401 St Paul MN 55101-2247 *78 10TH ST E R3401 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 499 THE POINTE OF ST PAUL UNIT R3401	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-1014
Housing And Redev Authority 25 4th St W Suite 1300 St Paul MN 55102-1634 *144 9TH ST E *Ward: 2	ROBERTS & RANDALL'S ADDITION TO ST. PAUL LOTS 1,2 AND LOT 3 & THAT PART OF LOT 4 NELY OF A L RUN FROM S COR OF SD LOT TO A PT ON NWLY L 1.95 FT FROM W COR OF SD LOT 4 & EX SELY 26 FT FOR 8TH ST	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	208.00	\$6,635.20 \$0.00 \$6,635.20	31-29-22-43-1348

Nick Vlcek Po Box 44355 Eden Prairie MN 55344-1355

*500 ROBERT ST N 303 *Ward: 2

*Pending as of: 1/26/2021

Mill and Overlay - Downtown NUMBER 535 ROSSMOR UNIT NO.303 Mill and Overlay - Downtown Flat Sidewalk Reconstruction

COMMON INTEREST COMMUNITY

COMMON INTEREST COMMUNITY

NUMBER 535 ROSSMOR UNIT NO.304

*** Owner and Taxpayer ***

Mill and Overlay - Downtown

Mill and Overlay - Downtown

Flat Sidewalk Reconstruction

31.90

31.90

1.00

31.90

31.90

1.00

0.88

0.88

0.00

0.88

0.88

0.00

\$28.07

\$28.07

\$56.14

\$28.07

\$28.07

\$56.14

\$0.00

\$0.00

31-29-22-43-1362

31-29-22-43-1363

Caitlin M Mcgowan 500 Robert St Unit 304 St Paul MN 55101-4453

*500 ROBERT ST N 304

*Ward: 2

*Pending as of: 1/26/2021

*** Owner and Taxpayer ***

perty Description MON INTEREST COMMUNITY	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
MON INTEREST COMMUNITY				Charge 14mes	1 Toperty 1D
	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1367
BER 535 ROSSMOR UNIT NO.308			0.88	\$28.07	
	Flat Sidewalk Reconstruction	1.00	0.00 _	\$0.00	
			_	\$56.14	
	*** Owner and Taxpayer ***				
VOLD TENERS COLOR RELIEV	Mill 10 1 D	21.00	0.00	Ф20.07	
					31-29-22-43-1374
BER 333 ROBSMOR ONIT NO.313					
	That Sidewark Reconstruction	1.00	0.00		
	attation O 1 TT attack			\$56.14	
	*** Owner and Taxpayer ***				
MON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1376
BER 535 ROSSMOR UNIT NO.317	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
			=	\$56.14	
	*** Owner and Taxpayer ***				
MON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1377
BER 535 ROSSMOR UNIT NO.318	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
			_	\$56.14	
	*** Owner and Taxpayer ***				
	BER 535 ROSSMOR UNIT NO.317	Flat Sidewalk Reconstruction *** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.315 MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.317 Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer *** Mill and Overlay - Downtown Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.318 Mill and Overlay - Downtown Flat Sidewalk Reconstruction	Flat Sidewalk Reconstruction **** Owner and Taxpayer *** Mill and Overlay - Downtown Mill and Overlay - Downtown Mill and Overlay - Downtown Flat Sidewalk Reconstruction **** Owner and Taxpayer *** Mill and Overlay - Downtown Flat Sidewalk Reconstruction **** Owner and Taxpayer *** Mill and Overlay - Downtown Mill and Overlay - Downtown Mill and Overlay - Downtown Flat Sidewalk Reconstruction Mill and Overlay - Downtown Flat Sidewalk Reconstruction **** Owner and Taxpayer *** MON INTEREST COMMUNITY **** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.318 Mill and Overlay - Downtown *** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.318 Mill and Overlay - Downtown Flat Sidewalk Reconstruction 1.00	Flat Sidewalk Reconstruction 1.00 0.00 = *** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.315 Mill and Overlay - Downtown 31.90 0.88 Flat Sidewalk Reconstruction 1.00 0.00 = *** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.317 Mill and Overlay - Downtown 31.90 0.88 Flat Sidewalk Reconstruction 1.00 0.00 = *** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.317 Mill and Overlay - Downtown 31.90 0.88 Flat Sidewalk Reconstruction 1.00 0.00 = *** Owner and Taxpayer *** MON INTEREST COMMUNITY BER 535 ROSSMOR UNIT NO.318 Mill and Overlay - Downtown 31.90 0.88 Flat Sidewalk Reconstruction 1.00 0.00 = *** Owner and Taxpayer ***	Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 \$56.14 \$\$\$ \$28.07 \$\$\$ \$6.14 \$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$ \$6.14 \$\$\$\$\$\$ \$6.14 \$\$\$\$\$\$ \$6.14 \$\$\$\$\$\$ \$6.14 \$\$\$\$\$\$\$ \$6.14 \$\$\$\$\$\$\$ \$6.14 \$\$\$\$\$\$\$\$\$ \$6.14 \$

Mill and Overlay - Downtown 0.88 31.90 \$28.07 Rebecca A Crancer COMMON INTEREST COMMUNITY 31-29-22-43-1383 NUMBER 535 ROSSMOR UNIT NO.324 Mill and Overlay - Downtown 31.90 0.88 \$28.07 500 Robert St Unit 324 Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 St Paul MN 55101-4453 *500 ROBERT ST N 324 \$56.14 *** Owner and Taxpayer *** *Ward: 2

Mill and Overlay - Downtown Steven R Schweizer 31.90 0.88 \$28.07 COMMON INTEREST COMMUNITY 31-29-22-43-1389 NUMBER 535 ROSSMOR UNIT NO.405 Mill and Overlay - Downtown 31.90 0.88 \$28.07 500 Robert St N #405 Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 St Paul MN 55101-4454 *500 ROBERT ST N 405 \$56.14 *** Owner and Taxpayer ***

*Ward: 2

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Beth L Stoneberg	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1390		
500 Robert St N #406	NUMBER 535 ROSSMOR UNIT NO.406	Mill and Overlay - Downtown	31.90	0.88	\$28.07			
St Paul MN 55101-2229		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 406				_	\$56.14			
*Ward: 2		*** Owner and Taxpayer ***						
*Pending as of: 1/26/2021								
		Mil. 10 1 D	21.00		#20.07			
Kate Anna Swenson	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.407	Mill and Overlay - Downtown Mill and Overlay - Downtown	31.90 31.90	0.88 0.88	\$28.07 \$28.07	31-29-22-43-1391		
500 Robert St N Unit 407	THE TRANSPORT OF THE TR	Flat Sidewalk Reconstruction	1.00	0.88	\$0.00			
St Paul MN 55101-4454		That Sidewalk Reconstruction	1.00	=				
*500 ROBERT ST N 407		*** O 1 T			\$56.14			
*Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***						
Ç								
Deborah S Erstad	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1394		
866 Hague Ave	NUMBER 535 ROSSMOR UNIT NO.410	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31 27 22 43 1374		
St Paul MN 55104-6516		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 410				=	\$56.14			
*Ward: 2		*** Owner and Taxpayer ***			ψ30.11			
*Pending as of: 1/26/2021		1 3						
Daniel D Hesse	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1397		
500 Robert St Unit 413	NUMBER 535 ROSSMOR UNIT NO.413	Mill and Overlay - Downtown	31.90	0.88	\$28.07			
St Paul MN 55101-4454		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 413					\$56.14			
*Ward: 2		*** Owner and Taxpayer ***						

	Fusike improvement rissessment re-					
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Daniel Streicher	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1400
500 Robert St N Unit 416	NUMBER 535 ROSSMOR UNIT NO.416	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
St Paul MN 55101-4454		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*500 ROBERT ST N 416				_	\$56.14	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
C. I. DWI	COLONOL DITEREST COLONOLIVITY	Mill and Overlay Daymtayn	31.90	0.88	\$28.07	
Sandra P Wilson	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.418	Mill and Overlay - Downtown Mill and Overlay - Downtown	31.90	0.88	\$28.07 \$28.07	31-29-22-43-1402
500 Robert St N Unit 418		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-4454		That Sidewalk Reconstruction	1.00	0.00 =		
*500 ROBERT ST N 418		***			\$56.14	
*Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
 Nolan M Lies	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1404
Timothy C Lies	NUMBER 535 ROSSMOR UNIT NO.420	Mill and Overlay - Downtown	31.90	0.88	\$28.07	012/22 10 1101
500 Robert St N Unit 420		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-4454				=	\$56.14	
*500 ROBERT ST N 420		*** Owner and Taxpayer ***				
*Ward: 2						
*Pending as of: 1/26/2021						
<i>6</i> ·						
Julie A Melville	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1406
500 Robert St N Unit 500	NUMBER 535 ROSSMOR UNIT NO.500	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
St Paul MN 55101-4455		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
500 ROBERT ST N 500				_	\$56.14	
*Ward: 2		*** Owner and Taxpayer ***				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kimberly Frank	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1409
500 Robert St N Unit 503	NUMBER 535 ROSSMOR UNIT NO.503	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
St Paul MN 55101-4455		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*500 ROBERT ST N 503					\$56.14	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
Benjamin Ganje	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1417
Dwight Ganje	NUMBER 535 ROSSMOR UNIT NO.511	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-141/
500 Robert St N #511		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-2230				=	\$56.14	
*500 ROBERT ST N 511		*** Owner and Taxpayer ***			ψ50.11	
*Ward: 2		1 2				
*Pending as of: 1/26/2021						
Kelly A Mccarthy	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.512	Mill and Overlay - Downtown	31.90 31.90	0.88 0.88	\$28.07	31-29-22-43-1418
500 Robert St N Unit 512	NOMBER 333 ROSSMOR CHIT NO.312	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	1.00	0.88	\$28.07 \$0.00	
St Paul MN 55101-4455		Tat Sidewark Reconstruction	1.00	0.00 =		
*500 ROBERT ST N 512		*** Owner and Taxpayer ***			\$56.14	
*Ward: 2		Owner and Taxpayer				
*Pending as of: 1/26/2021						
Joshua C Voelker	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1419
Kiera F Voelker	NUMBER 535 ROSSMOR UNIT NO.513	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
500 Robert St N Unit 513		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
St Paul MN 55101-4455					\$56.14	
*500 ROBERT ST N 513		*** Owner and Taxpayer ***				

	Ratification Date: Resolution #:									
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID				
Julian Stanke	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1424				
500 Robert St N Unit 518	NUMBER 535 ROSSMOR UNIT NO.518	Mill and Overlay - Downtown	31.90	0.88	\$28.07					
St Paul MN 55101-4455		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00					
*500 ROBERT ST N 518				_	\$56.14					
*Ward: 2		*** Owner and Taxpayer ***								
*Pending as of: 1/26/2021										
Joshua Columb	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1425				
500 Robert St N Unit 519	NUMBER 535 ROSSMOR UNIT NO.519	Mill and Overlay - Downtown	31.90	0.88	\$28.07					
St Paul MN 55101-4455		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00					
*500 ROBERT ST N 519				_	\$56.14					
*Ward: 2		*** Owner and Taxpayer ***								
*Pending as of: 1/26/2021										
Heather M Cole 500 Robert St N Unit 602 St Paul MN 55101-4456 *500 ROBERT ST N 602 *Ward: 2	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.602	Mill and Overlay - Downtown Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 31.90 1.00	0.88 0.88 0.00	\$28.07 \$28.07 \$0.00 \$56.14	31-29-22-43-1428				
*Pending as of: 1/26/2021 Keith L Witwer Stephanie G Witwer 500 Robert St N 606	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.606	Mill and Overlay - Downtown Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 31.90 1.00	0.88 0.88 0.00	\$28.07 \$28.07 \$0.00	31-29-22-43-1432				
St Paul MN 55101-4456		*** O 1 T ***			\$56.14					
*500 ROBERT ST N 606		*** Owner and Taxpayer ***								

Thomas Hall	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1438
500 Robert St N Unit 612	NUMBER 535 ROSSMOR UNIT NO.612	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
St Paul MN 55101-4456		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*500 ROBERT ST N 612					\$56.14	
*Ward: 2		*** Owner and Taxpayer ***				

	F	- mg- ·				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James D Segermark	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1439
500 Robert St N Unit 613	NUMBER 535 ROSSMOR UNIT NO.613	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
St Paul MN 55101-4456		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*500 ROBERT ST N 613				_	\$56.14	
Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
Vyona Hwa Laa	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	21 20 22 42 1440
Kyong Hwa Lee	NUMBER 535 ROSSMOR UNIT NO.614	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1440
.0447 Raleigh Rd		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
Woodbury MN 55129-4202		That Blac want reconstruction	1.00	=		
500 ROBERT ST N 614		*** Owner and Taxpayer ***			\$56.14	
Ward: 2 Pending as of: 1/26/2021		Owner and Taxpayer				
	COLONO INTEREST COLONO GIVILLY	Millard Ocalas Danatana	31.90	0.00	620.07	
Mark A Brakke	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.616	Mill and Overlay - Downtown Mill and Overlay - Downtown	31.90	0.88 0.88	\$28.07 \$28.07	31-29-22-43-1442
00 Robert St N Unit 616		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
t Paul MN 55101-4456		Tat Sidewalk Recollstruction	1.00	0.00 =		
500 ROBERT ST N 616		***			\$56.14	
Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
Molly Miller	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1444
aul Miller	NUMBER 535 ROSSMOR UNIT NO.618	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
00 Robert St N Unit 618		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
t Paul MN 55101-4456				_	\$56.14	
500 ROBERT ST N 618		*** Owner and Taxpayer ***				

Mill and Overlay - Downtown 0.88 Deborah Jean Indorf 31.90 \$28.07 COMMON INTEREST COMMUNITY 31-29-22-43-1451 NUMBER 535 ROSSMOR UNIT NO.704 Mill and Overlay - Downtown 31.90 0.88 \$28.07 Guido Van Helten Flat Sidewalk Reconstruction 1.00 0.00 \$0.00 500 Robert St N 704 St Paul MN 55101-4457 \$56.14 *** Owner and Taxpayer *** *500 ROBERT ST N 704

*Ward: 2

	-	Ratification Date: Resolution			8			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Keith A Nessel	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1452		
500 Robert St N Unit 705	NUMBER 535 ROSSMOR UNIT NO.705	Mill and Overlay - Downtown	31.90	0.88	\$28.07			
St Paul MN 55101-4457		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 705				_	\$56.14			
*Ward: 2		*** Owner and Taxpayer ***						
*Pending as of: 1/26/2021								
	COMMON DITENTATION OF BUILTY	Mill and Quadan Daniel	21.00		¢20.07			
Jacob P Nielsen	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.706	Mill and Overlay - Downtown Mill and Overlay - Downtown	31.90 31.90	0.88 0.88	\$28.07 \$28.07	31-29-22-43-1453		
1224 Newton Ave N Apt 2w	New Baless Resulted Civil New York	Flat Sidewalk Reconstruction	1.00	0.88	\$0.00			
Minneapolis MN 55411-3747		That Sidewalk Recollstruction	1.00	0.00 =				
*500 ROBERT ST N 706		*** O ***			\$56.14			
*Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***						
S								
Kelly A Triemert	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1454		
500 Robert St N Unit 707	NUMBER 535 ROSSMOR UNIT NO.707	Mill and Overlay - Downtown	31.90	0.88	\$28.07			
St Paul MN 55101-4457		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 707				_	\$56.14			
*Ward: 2		*** Owner and Taxpayer ***						
*Pending as of: 1/26/2021								
Jean Fideler	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	21 20 22 42 1457		
ean Fideler 500 Robert St N Unit 710	NUMBER 535 ROSSMOR UNIT NO.710	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1457		
St Paul MN 55101-4457		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
			1.00	=	\$56.14			
*500 ROBERT ST N 710		*** Owner and Taxpayer ***			\$30.14			
Ward: 2		Owner and Taxpayer						

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jean Fideler	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1458
500 Robert St N Unit 711	NUMBER 535 ROSSMOR UNIT NO.711	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
St Paul MN 55101-4457		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*500 ROBERT ST N 711				_	\$56.14	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
Mark C Anderson	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.716	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1463
Patricia S Anderson	NOMBER 333 ROSSWOR UNIT NO./10	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	$0.88 \\ 0.00$	\$28.07 \$0.00	
500 Robert St N #716		Flat Sidewalk Reconstruction	1.00	0.00 =		
St Paul MN 55101-4457		***			\$56.14	
*500 ROBERT ST N 716		*** Owner and Taxpayer ***				
*Ward: 2						
*Pending as of: 1/26/2021						
Lynn A Chase	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1464
500 Robert St N Unit 717	NUMBER 535 ROSSMOR UNIT NO.717	Mill and Overlay - Downtown	31.90	0.88	\$28.07	
St Paul MN 55101-4457		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*500 ROBERT ST N 717				_	\$56.14	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
					## ## ## ## ## ## ## ## ## ## ## ## ##	
Andrew Otterness	COMMON INTEREST COMMUNITY NUMBER 535 ROSSMOR UNIT NO.202	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1476
500 Robert St N 202	NOMBER 333 ROSSWOR ONLI NO.202	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90	0.88	\$28.07	
St Paul MN 55101-4452		rial Sidewalk Reconstruction	1.00	0.00	\$0.00	
*500 ROBERT ST N 202		*** O 1 T +++			\$56.14	
*Ward: 2		*** Owner and Taxpayer ***				

Ratification Date: Resolution #:								
<u>Owner or Taxpayer</u>	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Benjamin Johnson	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1477		
2907 Crestview Dr	NUMBER 535 ROSSMOR UNIT NO.203	Mill and Overlay - Downtown	31.90	0.88	\$28.07			
St Anthony MN 55418-2534		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 203				_	\$56.14			
*Ward: 2		*** Owner and Taxpayer ***						
*Pending as of: 1/26/2021								
Matthew Volenec	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	21 20 22 42 1402		
500 Robert St N Unit 208	NUMBER 535 ROSSMOR UNIT NO.208	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1482		
St Paul MN 55101-2025		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 208				=	\$56.14			
*Ward: 2		*** Owner and Taxpayer ***			\$30.14			
*Pending as of: 1/26/2021		o mar and rangely or						
Lisa M Clasen	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1485		
500 Robert St N #211	NUMBER 535 ROSSMOR UNIT NO.211	Mill and Overlay - Downtown	31.90	0.88	\$28.07	31-29-22-43-1403		
St Paul MN 55101-4452		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
*500 ROBERT ST N 211				=	\$56.14			
*Ward: 2		*** Owner and Taxpayer ***			φυσ.1.			
*Pending as of: 1/26/2021		•						
1805 Grand T Llc	COMMON INTEREST COMMUNITY	Mill and Overlay - Downtown	31.90	3.41	\$108.78	31-29-22-43-1498		
124 14th St	NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT BI	Flat Sidewalk Reconstruction	1.00	0.00	\$0.00			
Manhattan Beach CA 90266-4754	LOT 15 UNIT DI			_	\$108.78			
*523 JACKSON ST B1		*** Owner and Taxpayer ***						

Page 92

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stp Jj Team I Llc 2127 Old Hudson Rd St Paul MN 55119-4406 *523 JACKSON ST 102 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.102	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-1499
1805 Grand T Llc 124 14th St Manhattan Beach CA 90266-4754 *523 JACKSON ST 103 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.103	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-1500
Kingdom Equity Holdings Llc 5601 Mariner St 104 Tampa FL 33609-3450 *523 JACKSON ST 104 *Ward: 2 *Pending as of: 1/26/2021	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.104	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-1501
Ypm Llc 527 Jackson St Ste 106 St Paul MN 55101-2321	COMMON INTEREST COMMUNITY NUMBER 495 PRODUCE EXCHANGE LOFTS UNIT NO.106	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	3.41 0.00 =	\$108.78 \$0.00 \$108.78	31-29-22-43-1503

*** Owner and Taxpayer ***

*Ward: 2

*Pending as of: 1/26/2021

*523 JACKSON ST 106

Page 93

Ratification Date: Res

Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rebecca L Kuruvilla	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-1509
Terry T Kuruvilla 16 Mill Shares Rd	WALK CONDOMINIUM UNIT NO.R2607 AND GARAGE UNIT 33	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
*66 9TH ST E 2607		*** Owner and Taxpayer ***			\$138.56	
*Ward: 2		Owner and Taxpayer				
*Pending as of: 1/26/2021						
Carla Elise Sherman	CIC NO 735 ROSSMOR II UNIT NO.132	Mill and Overlay - Downtown	31.90	0.84	\$26.80	21 20 22 42 1515
132 10th St E		Mill and Overlay - Downtown	31.90	0.84	\$26.80	31-29-22-43-1515
St Paul MN 55101-2315		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*132 10TH ST E				=	\$53.60	
*Ward: 2		*** Owner and Taxpayer ***			400.00	
*Pending as of: 1/26/2021						
Di Millo Donosaio I I	CIC NO 735 ROSSMOR II UNIT NO.136	Mill and Overlay - Downtown	31.90	1.26	 \$40.19	21 20 22 42 1515
Rh Miller Properties Llc 136 10th St E	cie no 755 Rossinok ii civii no.150	Mill and Overlay - Downtown	31.90	1.26	\$40.19 \$40.19	31-29-22-43-1517
St Paul MN 55101-2246		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*136 10TH ST E				=	\$80.38	
*Ward: 2		*** Owner and Taxpayer ***			\$00.2 0	
*Pending as of: 1/26/2021						
North Robert Llc	CIC NO 735 ROSSMOR II UNIT NO.490	Mill and Overlay - Downtown	31.90	1.68	\$53.59	31-29-22-43-1520
490 Robert St N		Mill and Overlay - Downtown	31.90	1.68	\$53.59	012/22 10 1020
St Paul MN 55107-4582		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*490 ROBERT ST N				_	\$107.18	
*Ward: 2		*** Owner and Taxpayer ***				
Pending as of: 1/26/2021						

Ratification Date:

Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
North Robert Llc	CIC NO 735 ROSSMOR II UNIT NO.492	Mill and Overlay - Downtown	31.90	1.26	\$40.19	31-29-22-43-1521
490 Robert St N		Mill and Overlay - Downtown	31.90	1.26	\$40.19	
St Paul MN 55107-4582		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*492 ROBERT ST N				_	\$80.38	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 1/26/2021						
 North Robert Llc	CIC NO 735 ROSSMOR II UNIT NO.494	Mill and Overlay - Downtown	31.90	1.26	\$40.19	21 20 22 42 1522
North Robert Lic 190 Robert St N	Cic No 755 Rossillor ii Civii No.157	Mill and Overlay - Downtown	31.90	1.26	\$40.19 \$40.19	31-29-22-43-1522
St Paul MN 55107-4582		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
		That Side walk Reconstruction	1.00	=	\$80.38	
494 ROBERT ST N		*** Owner and Taxpayer ***			\$80.38	
Ward: 2 Pending as of: 1/26/2021		Owner and Taxpayer				
North Robert Llc	CIC NO 735 ROSSMOR II UNIT NO.496	Mill and Overlay - Downtown	31.90	1.26	\$40.19	31-29-22-43-1523
190 Robert St N		Mill and Overlay - Downtown	31.90	1.26	\$40.19	
t Paul MN 55107-4582		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
496 ROBERT ST N				_	\$80.38	
Ward: 2		*** Owner and Taxpayer ***				
Pending as of: 1/26/2021						
	DODEDTE & DANIALLIS ADDITION	Mill and Overlay Dougetown	21.00	46.07	 \$1.460.62	
Rossmor Partners Llc	ROBERTS & RANDALL'S ADDITION TO ST. PAUL EX PART LYING IN CIC	Mill and Overlay - Downtown Mill and Overlay - Downtown	31.90 31.90	46.07 46.07	\$1,469.63 \$1,469.63	31-29-22-43-1527
C/O Pak Properties	NO.535 & CIC NO.735 LOTS 5 THRU	Flat Sidewalk Reconstruction	1.00	0.00	\$1,469.63	
75 E 4th St Unit 720	LOT 10 BLK 10	i iai Sidewaik Recollsti detioli	1.00	=		
t Paul MN 55101-1907		*** Over on and Townsys ***			\$2,939.26	
128 10TH ST E		*** Owner and Taxpayer ***				

*Ward: 2

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Yevgeniy A Yevtikhov	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-1529
487 Owasso Hills Dr	WALK CONDOMINIUM UNIT NO.R2216 & GARAGE UNIT 50	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
St Paul MN 55113-2153		data o tra			\$138.56	
*66 9TH ST E 2216		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 1/26/2021						
Teliding as 01. 1/20/2021						
Zachary Macdonald	CONDOMINIUM NUMBER 203 CITY	Mill and Overlay - Downtown	31.90	0.60	\$19.14	31-29-22-43-1534
66 9th St E #1614	WALK CONDOMINIUM UNIT NO.R1614 & GARAGE UNIT 149	Flat Sidewalk Reconstruction	1.00	119.42	\$119.42	
St Paul MN 55101-4700		***			\$138.56	
*66 9TH ST E 1614 *Ward: 2 *Pending as of: 1/26/2021		*** Owner and Taxpayer ***				
City Of St Paul 25 4th St W Rm 1000	Ex The Nely 20 Ft For St; Lot 1 And All Of Lots 2 And Lot 3 Blk 1	Mill and Overlay - Downtown Flat Sidewalk Reconstruction	31.90 1.00	130.00	\$4,147.00 \$0.00	31-29-22-43-1540 ***EXEMPT***
St Paul MN 55102-1692		*** Owner and Taxpayer ***			\$4,147.00	
*114 10TH ST E *Ward: 2		The Owner and Taxpayer The				
*Pending as of: 1/26/2021						
	EX ELY 20 FT OF LOTS 1,2,3,12,13 & 14	Mill and Overlay Dovertown	31.90	317.00	\$10,112.30	21 20 22 42 1544
Lipt 101 10th St E	LOTS 1 THRU 14 BLK 6	Mill and Overlay - Downtown	31.90	317.00	\$10,112.30	31-29-22-43-1544
St Paul MN 55101-2223		Flat Sidewalk Reconstruction	1.00	0.00	\$0.00	
*101 10TH ST E				=	\$20,224.60	
*Ward: 2		*** Owner and Taxpayer ***			,	

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Lawrence R Strom Diana K Strom 66 9th St E 2408 St Paul MN 55101-2277 *66 9TH ST E 2408 *Ward: 2 *Pending as of: 1/26/2021	Unit No. R2408	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-1550		
Pamela S Revocable Trust Agreement Neal Co Pamela S Neal 78 10th St E Unit 2501 St Paul MN 55101-2247 *78 10TH ST E R2501 *Ward: 2 *Pending as of: 1/26/2021	Unit R2501	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-1552		
Bryan Dean Beaudoin 78 10th St E Unit 3410 St Paul MN 55101-2247 *78 10TH ST E 3410 *Ward: 2 *Pending as of: 1/26/2021	Lot R3410 of CIC NO 499 THE PT OF ST PAUL UNIT R3410 & UNIT P073 & UNIT P075	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.41 0.00 =	\$13.08 \$0.00 \$13.08	31-29-22-43-1569		
Donald J Lasecke Lois C Lasecke 66 9th St E Unit 1509 St Paul MN 55101-4700 *66 9TH ST E 1509 *Ward: 2 *Pending as of: 1/26/2021	UNIT NO 1509 & GARAGE UNIT 114	Mill and Overlay - Downtown Flat Sidewalk Reconstruction *** Owner and Taxpayer ***	31.90 1.00	0.60 119.42 =	\$19.14 \$119.42 \$138.56	31-29-22-43-1578		

13:30:16 3/29/2021 Public Improvement Assessment Roll by PID (Fe

Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO2008 Assmt: 205500

Ratification Date:

Resolution #:

Manager: LM

Page 97

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID Report Totals:** 381 Parcel(s) **Total Assessment:** \$406,358.87 4 Cert. Exempt Parcel(s) This Payment: \$0.00 **Current Year Principal:** \$0.00 **Current Year Interest:** \$0.00 **Payoff Amount:** \$406,358.87